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Question Number : 1 Question Id : 9679472427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are four different words in which some letters are missing. Out of the options, choose the group of three letters that complete the
words meaningfully.
__vent,  sole,  duct,  dole

Options :
1. # Cor
2. % Cov
3. % Con
4. # Coc

Question Number : 1 Question Id : 9679472427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2 TR 31eT-31eNT Yo 3T T & R o9 31aR I &1 f[aepedl 7 Q, & 21&R) & GHg &1 99+ B3 Sl Wedl B! 30 7 J R B B

__vent,  sole,  duct,  dole

Options :
1. % Cor
2. % Cov
3.4 Con
4. % Coc

Question Number : 2 Question Id : 9679472428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following series:
aba_ddbcbde ¢ ce

Options :

1. # cdeef
2. ® cdeff
3. % cedff
4. % bdcef

Question Number : 2 Question Id : 9679472428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad e &1 &
aba_ddbcbde ¢ ce

Options :

1. % cdeef

2. % cdeff

3. ¥ cedff

4. # bdcef



Question Number : 3 Question Id : 9679472429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.
1. Bluff

2. Blunder

3. Bliss

4. Blush

5. Blink

Options :

1. % 2,45 3,1
2.%5,3,2,1,4
3.%4,1,2,3,5
4.95,3,1,2,4

Question Number : 3 Question Id : 9679472429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T Teg] 1 U HH & Jafyd o [ A § d Asadh I H 5 B
1. Bluff

2. Blunder

3. Bliss

4. Blush
5. Blink

Options :

1. % 2,4,53,1
2.%5,3,2,1,4
3.%4,1,2,3,5
4.+ 53,1,2,4

Question Number : 4 Question Id : 9679472430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in a meaningful order:



1. Scrutiny

2. Honeymoon

3. Matrimonial Advertisement
4. Selection

5. Proposal

6. Engagement

7. Marriage

Options :

1. % 3,1,4,6,5,2,7
2.93,1,4,5,6,7,2
3.%5,3,1,4,6,7,2
4. % 3,51,4,6,7,2

Question Number : 4 Question Id : 9679472430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& 7T <sal 1 Hrefeh s H HafRd B
1. e

2. B

3. daiee fasma

4.9

5. U&dId

6. TS

7. faarg

Options :

1. % 3,1,4,6,5,2,7
2.9%3,1,4,5,6,7,2
3.%53,1,4,6,7,2
4. % 3,51,4,6,7,2

Question Number : 5 Question Id : 9679472431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is



different from the rest.
Options :

1. % Ukulele

2. # Sitar

3. % Drum

4. % Guitar

Question Number : 5 Question Id : 9679472431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & ¥ o U M3 aRich ¥ 90 8 | gTallich, T [dahed o A &1 IRE -Tal 6| 3% [Adhed HI Ia- Hx off 30 J 3T g
Options :

1. % Japcrel!

2. % RydR

3. ¥ SH

4. % fIeR

Question Number : 6 Question Id : 9679472432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Mushroom
2. # Yeast

3. % Truffle

4. ¥ Fern

Question Number : 6 Question Id : 9679472432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few T fimedl H @ & T RfYd ai% A TUE &1 5T, T faed 3/ diF o1 oRE el ¢ | 39 f[dhcd o1 I8 &Y off 37 ¥ 3 B




Options :

. % SPA
2. % @HR

3. % ¢<hd

4. ¢ B

Question Number : 7 Question Id : 9679472433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Larva

2. % Caterpillar
3. ¥ Nymph

4. % Pupa

Question Number : 7 Question Id : 9679472433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed! & 9 & T Ay e I 90 § | 8TalD, Uh fAwed o/ diF & dve -Te] ¢ | 39 [aded &1 78 &3 Sl 31 ¥ 3T g |
Options :

1. % 8y

2. % godil

3. ¢ e

4. % Ul

Question Number : 8 Question Id : 9679472434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.



Options :
1. #* CEI
2. % QSX
3. % JLP
4. % QSW

Question Number : 8 Question Id : 9679472434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U fadenl & ¥ ofiF Te i dRih 1 90 8 | gTaliich, T [dahed o A &1 TRE -Tal 6| 3% fAdhed &1 90 Hx off 30 J 3@ |
Options :

1. # CEI

2. ¥ QSX

3. % JLP

4. % QSW

Question Number : 9 Question Id : 9679472435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [aered &1 999 B S A1 U J I YR TR & § o TR ugal Ue gak ue 3 Jafed g
ﬁ?@ﬁ:ﬁ?ﬁﬂ::?:m

Options :

1. % ol

2. % 1Yl

3. ¥ R

4. % 9

Question Number : 9 Question Id : 9679472435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the fourth term on the same basis as the first term is related to the second term.
Cat : Kitten :: 7 : Cub



Options :
1. * Dog
2. % Ass
3. % Lion

4. % Horse

Question Number : 10 Question Id : 9679472436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Bird : Chirp :: Snake : ?

Options :

1. * Sing

2. % Cry

3. % Sting

4. ¥ Hiss

Question Number : 10 Question Id : 9679472436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [doed &1 999 B S el UE I I UHR ¥ A&fd ¢ o UHR ¥ gkl UE Ugd U & Hafdd g
geft : 98 - 1 ; 2

Options :

1. = 3700

2. % M

3. % S HARAI

4. ¢ phdR

Question Number : 11 Question Id : 9679472437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.



Bank : River :: Coast : ?
Options :

1. % Waves

2. ®* Flood

3. % Sea

4. % Beach

Question Number : 11 Question Id : 9679472437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAHed BT T B S ik UG ¥ 341 UHR ¥ Yafdd g fo UhR ¥ 3R UG Ugd Ug ¥ Hafed g
fepIRT : A} :: IRAe - 2

Options :

1. % QT

2. % dlg

3. ¥ JHx

4. % ST

Question Number : 12 Question Id : 9679472438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Monarchy : King :: Aristocracy : ?

Options :

1. ¥ Nobles

2. # Wealthy

3. # Peasants

4. % God

Question Number : 12 Question Id : 9679472438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fdohed o1 999 B Sl R UG A I UDHR U Hafd 8 o TR ¥ gaR1 UG Ugd U 3 Heildid 5
R[S - XTST :: AT - 2

Options :

1. v 359

2. % et

3. % PP

4. % YIdMH

Question Number : 13 Question Id : 9679472439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I[f HOWRAH is coded as IQZVFN, then what is the code for BAGNAN?
Options :

1. ¥ CECRIT

2. # CCREIJT

3. # CCIRET

4. % CCIRFT

Question Number : 13 Question Id : 9679472439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfd HOWRAH &1 IQZVFN & &0 H $IfSd a1 T 8, 9 BAGNAN &1 HIS &1 32
Options :

1. ®* CECRJT

2. % CCREJT

3. ¥ CCIRET

4. % CCIRFT

Question Number : 14 Question Id : 9679472440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If DHARMATALA is coded as 4819412131, then what will be SHYAMBAZAR coded as?



Options :

1. % 1871421819
2. % 1874210891
3. % 1872321819
4. % 1782321819

Question Number : 14 Question Id : 9679472440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe DHARMATALA 1 4819412131 & ¥U § I Sd a1 71 8, df SHYAMBAZAR &1 &9 pifed farar smem
Options :

1. ¥ 1871421819

2. % 1874210891

3. % 1872321819

4. % 1782321819

Question Number : 15 Question Id : 9679472441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If TEACHER is coded as OIVGCIM, what will be STUDENT coded as?
Options :

1. ¥ QNQFKNZ

2. % PXNHZTP

3. ¥ OYQIASP

4. ¥ NXPHZRO

Question Number : 15 Question Id : 9679472441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE TEACHER &1 OIVGCIM & &0 H BIfSd fhd1 T 8, O STUDENT &1 $¥ SifSd fobar S

Options :



1. ¥ QNQFKNZ
2. % PXNHZTP
3. % OYQIASP
4. ¥ NXPHZRO

Question Number : 16 Question Id : 9679472442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If TROUSER is coded as UTSRROE, what will the code for ANSWER?
Options :

1. # NRSEAW

2. # NSREAW

3. # NWSREA

4. ¥ WSRNEA

Question Number : 16 Question Id : 9679472442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf& TROUSER @I UTSRROE & %0 & $ifsd forar 71 8, Y ANSWER & T 1S &1 R
Options :

1. % NRSEAW

2. % NSREAW

3. ¥ NWSREA

4. ¥ WSRNEA

Question Number : 17 Question Id : 9679472443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following sequence, find out the number of times 1, 3 and 7 have appeared together, 7 being in the middle and 1 and 3 on the either sides
of 7.
2973173771331738571377173906

Options :



1. * 1
2.% 2
3.3
4. % 4

Question Number : 17 Question Id : 9679472443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafea sa d, Fra B f 1, 3 3R 7 T I fra-t IR 3MU R, Sel 7 S A g iR 1 3R 3, 7 F a1 3R g

2973173771331738571377173906
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 18 Question Id : 9679472444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raju is taller than Vijay who is not as tall as Kartik. Sahil is taller than Ajay but shorter than Vijay. Who among them is the shortest?
Options :

1. ¥ Ajay

2. % Raju

3. % Kartik

4. % Sahil

Question Number : 18 Question Id : 9679472444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
315, faora @ dan § S wifcles fora= dar 81 8 | iied, siord ¥ del § it fasra A Bler 81 396 I Yol Bl &1 82

Options :
1. ¢ 3ol




2. % 0]
3. % Blidd
4. % gifgd

Question Number : 19 Question Id : 9679472445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among A, B, C, D and E, E is taller than D but not as heavy as D. C is taller than A but shorter than B. A is heavier than D but not as heavy as B.
E is lighter than C who is lighter than D. E is shorter than A. Who among them is taller than two but lighter than the remaining two?

Options :
1. % A
2.% B
3. ¢°C
4. %D

Question Number : 19 Question Id : 9679472445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,C,D3REFSHAH E, DA TS g, Afpa D RIaAT U 781 81 C, A A a1 8, AfFT B A BICTIB1 A, D T HRY §, dfp1 B a1 widt
T BRI E,CAGHI e TN D U GHIBI E, A Y BleT g1 STH A B9 &l I A1 8 Afh- A9 a1 T gehl 82

Options :

1% A

2. % B

3.9 C

4. %D

Question Number : 20 Question Id : 9679472446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Among Arun, Barun, Chandu and Dinesh, Barun is heavier than Arun and Chandu but Chandu is taller than him. Dinesh is not as tall as Chandu,

while Arun is the shortest. Chandu is not as heavy as Arun. Dinesh is heavier than Barun but shorter than him. Who is the heaviest and the tallest
among them?



Options :

1. # Barun and Chandu
2. ¥ Dinesh and Chandu
3. # Dinesh and Arun
4. #* Chandu and Arun

Question Number : 20 Question Id : 9679472446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T, UL, Tig 3R G & o7 H, T307 3307 3R dg J YR § e g ST el g | femwr dg a1 dar 781 7, Safds 330 Jad Biel
21 T 3301 a1 U A8 81 faAw, 5991 ¥ U § ftrT ST Bler 81 394 T U} 3R Tad @l 1 82

Options :

1. % §97 3R Tg
2. ¢ &A1 3R 9ig
3. % faer ok s
4. % 9g 3R 3300

General Ability2
Group Number : 2
Group Id : 96794732
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Ability2



Section Id : 96794732

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794738
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9679472447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some laptops are computers.
Statement 2 : No computer is a gadget.

Conclusion I : Some laptops are gadgets.
Conclusion II : Some computers are laptops.

Options :

1. # Only conclusion I follow

2. % Only conclusion II follow

3. % Both conclusion I and II follow

4. % Neither conclusion I nor II follow

Question Number : 21 Question Id : 9679472447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y A gl Y fRu U B, s a1 & s 1, 3R 11 AT U § 1 3ueh! 39 Sy &) I A1 &, YA 81 I8 ITHHIa: I1d 9 ¥ fd Ut
g1 3iTuh! ag fvfg o & % faw e el & & o1 w1, afe &S 81, O fau T 3= & 9 SR axan g |



FY | : $S AUCId IR & |

HYF 2: PIg HYR Toic Tal o

s | : $& AU oie B

fspY 11: $& HIYR AU § |

Options :

1. % Had FpY 1 SFIERUT el §

2. ¢ Had BN 11 IR0 Rl &

3. % SB[ SR 11 G SFERUI Rdl §
4. % FHY [ SR TG 11 SRV HRAT §

Question Number : 22 Question Id : 9679472448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some businesswomen are rich.
Statement 2 : Sunita is rich.

Conclusion I : Sunita is a businesswoman.
Conclusion II : Sunita owns a big firm.

Options :

1. # Only conclusion I follow

2. % Only conclusion II follow

3. ¥ Both conclusion I and II follow

4. % Neither conclusion I nor II follow

Question Number : 22 Question Id : 9679472448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H l pUF fRu U 8, o a1 &l s 1, 3R 11 fRT U €1 3ueh) 39 YA ol I A=A &, Wl 81 I8 ITHIa: I1d ad O fire Uddta
g1l 3 g i o & & feu o frepsf § @ P, afe 15 €, A R My ot & | SrgRuT e 21



HYT | : $S TIIR AfGATS &=t Bt B
HYT 2 : G & g

fsep e 1 ; G soaarh A 3|

ey 11 - it o) St B

Options :

1. % Had FpY 1 SFIERUT el §

2. % I DY [1 TRV BT &

3. % fpY 1 3R 11 ST SRRV 1 §
4.« T w1 R TG 11 SRV FRAT &

Question Number : 23 Question Id : 9679472449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question three statements are given, followed by four conclusions, I, II, III and I'V. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : Some snakes are crocodiles.
Statement 2 : All snakes are reptiles.
Statement 3: All crocodiles are insects.

Conclusion I : Some insects are snakes.
Conclusion II : Some reptiles are crocodiles.
Conclusion III: Some insects are reptiles.
Conclusion IV: Some crocodiles are snakes.

Options :

1. # Only conclusion I follow

2. % All the conclusions follow

3. % Only conclusion I and IV follow
4. ® Either conclusion II or III follow

Question Number : 23 Question Id : 9679472449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Uy & 9 pY feu U §, o9 a1¢ IR ey 1, 11, 111 3R 1v fRT U § | 3Musp! 377 Syl ! I AT 8, Ul & I8 JrHad: J1d a9 3
o it 811 3mue) g FAvfg o & b feu 7w el & @ 1 a1, afe 31 &), o fou T et §f & 3R R B

HYT 1 : $B Y RIS 3
Y 2 gt o YU B
HY 3: It TTRAD DI |

sy 1 : $& Plc AU G|
FpY 11: $& TIYT TRIS 5
fShY 111: $& P WU & |
IV: $6 ATRHS WU § |
Options :
1. % Had (sHY | 38R0 HRl §
2. ¢ Gt Fep s TR0 Rl §
3. % Had fpY [ 3R [V 38R0 Hd &
4. % Ul fAemy 11 37 111 SR BT |

Question Number : 24 Question Id : 9679472450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : If all workers work to their full potential we will get the contract.
Statement 2 : We got the contract.

Conclusion I : All workers worked to their full potential.
Conclusion II : Some workers did not work to their full potential.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follow

4. % Neither conclusion I nor II follows.



Question Number : 24 Question Id : 9679472450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § &) pY= feu U 8, fo e a1 gl s 1, 3R 11 feu U § 1 3imuep! 37 HUA &l I AT 8, YA 81 I8 ITHId: J1d a2 3 i udid
11 3Mue) g g o § 6 feu e el A A o @, afe 18 8, A R U el & 4 srqERur v 2|

HYF 1 : e T HHART ST T &A1 I HTH B dl g8 SpT FHQ|
PHYT2 . gH S A T 3|

et 1 Tt 9! = 1o Ot e & & foea |
FTShY 11: $& Y] = SO O &l ¥ BT 8! foha |
Options :

1. ¢ $ad ey [ 3TIRUT Bl &

2. % Had BN 11 IR0 Hal §

3. % fHY 1 3R 11 ST SRRV R §

4. % FE s 1 3R T & 11 SRR R &

Question Number : 25 Question Id : 9679472451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:

What will come next in the series ?
987654321987654329876543987654987

Options :
1. %5
2. % 4
3.6
4. % 1

Question Number : 25 Question Id : 9679472451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fafaRad S Jad o @ o1

SR T 31T T T2
987654321987654329876543987654987
Options :

1. %5

2. % 4

3.6

4. % 1

Question Number : 26 Question Id : 9679472452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following number series:
69, 70, 66, 75,59,

Options :
1. % 34
2. % 48
3.¥° 84
4. % 82

Question Number : 26 Question Id : 9679472452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiad Sem aar o [T &1

69, 70, 66, 75,59,

Options :

1. *= 34

2. % 48

3.¥ 84

4. = 82



Question Number : 27 Question Id : 9679472453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number.

Options :
1. %3
2.% 4

3.¢¥°5
4. % 6

Question Number : 27 Question Id : 9679472453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SISRCINIRERY

Optlons :
1. %3
2. % 4

3.5
4. % 6



Question Number : 28 Question Id : 9679472454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If - stands for division, + stands for addition, + stands for multiplication and x stands for subtraction, which of the following equations is correct?
Options :

1. % 47+12-3+2x5+2=1875

2.% 47 x12+3+2-5+2=1875

3.947+12-3+2x5-2=187.5

4, % 47-12-3%x2+5-2=187.5

Question Number : 28 Question Id : 9679472454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g - &1 31 § YT, = BT 31 § oY, + 7 372 g T[0T 3iR x 1 31 § "erq, af Fufaiaa & 9 i a1 ateur 9gh 82
Options :

1. % 47+12-3+2x5+2=1875

2.% 47x12+3+2-5+2=1875

3.947+12-3+2x5-2=187.5

4, % 47-12-3%x2+5-2=187.5

Question Number : 29 Question Id : 9679472455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Silchar, Assam and Asia?
Options :



2. %

1(0))e

4.9

Question Number : 29 Question Id : 9679472455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afeRad & 9 &1 1 37 3y RieieR, 3’99 3R TRAT & §19 & de¢ ol a9 33T STdT 82

Options :

1. #

2. %



1(0)e

4. ¢

Question Number : 30 Question Id : 9679472456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between English, Spanish and Portuguese?
Options :

000

2. %

1(0)e



4. %

Question Number : 30 Question Id : 9679472456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofefed & 9 o 91 99 3a SR, TR SR Yarelt & did & Hey &I Gl 331 GRIid 82

Options :

000

2. %

LG

4, %

Question Number : 31 Question Id : 9679472457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given Venn diagram shows students who are laborious, disciplined and studious. Which number represents students who are not disciplined
but laborious and studious?

e (B o

Disciplined

Options :
1. %7
2.9 8
3.% 2
4. %9

Question Number : 31 Question Id : 9679472457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oo 71T 31 3T 31 B B <=l § S Ao, SRR 3R 3ieag==id & | B T T 3 BTl BT Ufaf-ided Hdl & S S=miya
Tl Sfcd Tgal 3R 3reg=id 82

Options :
1. %7
2.9 8



3.%2
4. %9

Question Number : 32 Question Id : 9679472458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows singers, students, swimmers, foot ballers. Which number represents students who are also singers and swimmers
but not foot ballers?

Foot ballers 13 15
—— Singers
/5] 2\ 8

/,3 10| 3 \6\ 4
A —— Students

N 12
9 N\ 16

\“H‘.ﬂ._-fi Swimmers
Options :
1. %3
2. % 4
3.6
4. % 16

Question Number : 32 Question Id : 9679472458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fearmaraq 3%&“@' !, B, dRIPT, Beaid sl & gRIidl 81 HiF It W 37 BT & g § Sl Md 3R a1 it g afde
PedieR T8l 82




Options :
1. %3
2. % 4
3.6
4. % 16

Question Number : 33 Question Id : 9679472459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

A




3.¢

Question Number : 33 Question Id : 9679472459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e faeedl 7 @ &t g a% T gHM &1 gTifes, T [Awed 30 9 o1 e 181 81 39 A ey &1 T &3 oY 370 T 3(cT g |

Options :

A

A

3.¢¥




4. %

Question Number : 34 Question Id : 9679472460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

‘ . q - . ‘ I -
7
— -

| | —

[
VAN

Options :

[T
2. ® A
L
3. % A

—
i

4.




Question Number : 34 Question Id : 9679472460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dored &1 999 B S el Ue I I UHR ¥ A& § o UHR ¥ gkl UE Ugd U & Hafdd g

‘ . q - . ‘ I -
7
— -

Options :T T
1. % A
N
2. % A
L
3. % A
z
4. & A

Question Number : 35 Question Id : 9679472461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

L L - ?
L] | . » [ ]
Options :
1. %
2. ®
3. ¢
4. ®

Question Number : 35 Question Id : 9679472461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dored &1 999 B S el UE I I UHR ¥ Aa&fd ¢ o UHR ¥ gkl UE Ugd U & Hafdd g




?
L] | . » [ ]
Options :
1. %
2. ®
3. ¢
4. ®

Question Number : 36 Question Id : 9679472462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

w— — -—
— — f—— ?
— p—x ]




Options :

-—
—
1. ¢

Question Number : 36 Question Id : 9679472462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed BT T B S iR UG 9 341 UHR U Y& fdd g fo JhR ¥ ORI UG Ugd Ug ¥ Hafed g

— PR -—
L] . ® [ ]
— — f—— ?
L] LI -
— —x —s
Options :
—<
—

1.¥




Question Number : 37 Question Id : 9679472463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The six faces of a dice have been marked with letters A, B, C, D, E and F respectively. The dice is rolled thrice and the three result positions are
given below. Find the letter opposite A.

T (22 G-

B

Options :
1. % C
2.%D
3. ¥E
4. % F

Question Number : 37 Question Id : 9679472463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS U & ©¢ Hdd! DI HHTT: A, B, C, D, E 3R F 31&R] ¥ fafed fovan a1 g1 U &1 o7 SR g™ T g 3R ot afvorm fufa e &
TS 81 A & faudia fRua 31er 1 B |

DOE

Options :
1. % C
2.%D
3. ¥E
4. 8 F

Question Number : 38 Question Id : 9679472464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many number of straight lines are there in the given question figure?

Options :
1. %10
2.% 12
3. % 13
4, % 18

Question Number : 38 Question Id : 9679472464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&S Uy Spfa & fopat Ttelt ¥ &2

Options :
1. % 10
2.v 12
3. % 13
4. % 18

Question Number : 39 Question Id : 9679472465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :

1. ¥




3. ®

Question Number : 39 Question Id : 9679472465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7S IR Spiaal § W, 39 Ml &1 99 B Ford Uy enefa fdtafafed g

Options :




Question Number : 40 Question Id : 9679472466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures complete the image pattern of the question figure?

Options :




Question Number : 40 Question Id : 9679472466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 3 o 0 SR 3pfa Uy 3nefa & B Ue o R et 32

Options :




4. %
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Group Marks : 20
Is this Group for Examiner? : No
General Awarenessl1
Section Id : 96794733
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 96794739
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9679472467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is a famous Kathakali dancer?
Options :

1. ¥ Kalamandalam Padmanabhan Nair

2. % Birju Maharaj

3. % Rukmini Devi Arundale

4. # Shovana Narayan

Question Number : 41 Question Id : 9679472467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Profifed § 3 B TRig Sy TaiT §
Options :

1. ¢ HATHSIH UHTHA TR

2. % {99 HERIS

3. % JfqHult It ereea

4. % QY AR

Question Number : 42 Question Id : 9679472468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which instrument does Ravi Shankar play?
Options :

1. # Violin

2. # Ektara

3. % QGuitar



4. « Sitar

Question Number : 42 Question Id : 9679472468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NER GRS CIBKEC TS,
Options :

1. % qrafer

2. % UhdRI

3. % fieR

4. ¢ YR

Question Number : 43 Question Id : 9679472469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thang-ta & Dhol-Cholom are folk dances of which state?
Options :

1. % Sikkim

2. % Manipur

3. % Assam

4. % Meghalaya

Question Number : 43 Question Id : 9679472469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT 3R Sd-ara [y I & AIh I 82
Options :

1. % ffdpa

2. ¢ HiOIR

3. % 34H

4. % TYTT




Question Number : 44 Question Id : 9679472470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sun Temple is located in

Options :

1. # Kerala

2. # Karnataka

3. ® Tamil Nadu

4. ¥ QOdisha

Question Number : 44 Question Id : 9679472470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i Hfer AR

Options :

1. % DR

2. % HHAICH

3. % i A1

4.+ 3ifg=m

Question Number : 45 Question Id : 9679472471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What among the following is 'the price set by the government to purchase crops from the farmers, whatever may be the market price for the
crops'?

Options :

1. % Maximum Retail Price

2. % Minimum Support Price

3. % Minimum Selling Price

4. ¥ Maximum Support Price



Question Number : 45 Question Id : 9679472471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 oF fHum S BUd Wiie & ot WeR gR1 Fuitd Jeg, ol &1 o Jod 9 {8 82
Options :

1. % 3Hihdd Gl oA

2. ¢ AT 7T g

3. % Y fasht e

4. % f¥HaH I7d g

Question Number : 46 Question Id : 9679472472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a means by which a government adjusts its spending levels and tax rates to monitor and influence a nation's economy?
Options :

1. # Budget

2. % National Policy

3. % Minimum Support Price (MSP)

4. ¥ Fiscal Policy

Question Number : 46 Question Id : 9679472472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed & I &I 91 1eq € FoRid gRTIRGR 30 WY & WR 3R HR &1 B [t o Bt fHawy & FTRHT 3R g1 & forg
AT St g2

Options :

1. ® d3lc

2. % P Afa

3. % HaH g9 g

4. ¥ IASH Y Hifd



Question Number : 47 Question Id : 9679472473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the final monetary value of the goods and services produced within the country during a specified period of time, normally a year called?
Options :

1. # Net National Product (NNP)

2. % Gross National Product (GNP)

3. % Gross Domestic Product (GDP)

4. % Net Domestic Product (NDP)

Question Number : 47 Question Id : 9679472473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 3afdy, Immaa: T 99 & SR <=1 & iR Iarfed axgell Td darsit &1 sifaq Aifses go &1 o1 $Hg1 oIl 82
Options :

1. % T P 3G

2. ® bl AP IdTG

3. ¢ gohdl W 3G

4. % (499 <=lT IdIQ

Question Number : 48 Question Id : 9679472474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A budget is an estimation of over a specified future period of time and is usually compiled and re-evaluated on a periodic
basis.

Options :

1. # Imports and exports
2. ¥ Revenue and expenses
3. % Assets and liabilities

4. # Revenue and receipts

Question Number : 48 Question Id : 9679472474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T soie Ay ufaw o safy BT 3THM g 3R AR W SHMafIH YR TR Yohford 3R THeb a1 S g |
Options :

1. % 3mTd 3R fFafd

2. ¢ oG 3R g

3. % guftat 3R IR

4. % o 3R Urfeert

Question Number : 49 Question Id : 9679472475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gross National Product (GNP) is the total value of all finished goods and services produced by a country’s citizens in a given financial year,
irrespective of their

Options :

1. # Price

2. % Quality
3. % Location
4. # Quantity

Question Number : 49 Question Id : 9679472475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬂ@ﬁﬁgﬁéﬁ%ﬂhﬁmwmwﬁ?ﬂnaﬁmﬁamﬁwaﬁsﬁaﬁﬁmﬁmﬁﬂzﬂ%ﬁﬂ%wﬁ
¥ |

Options :
1. % P
2. % IUIGl
3. ¥ /A
4. % HHAT



Question Number : 50 Question Id : 9679472476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is a product of fermenting milk with the help of Lactobacillus bulgaricus and Streptococcus thermophilus.
Options :

1. # Butter

2. % Yoghurt

3. % Cottage Cheese

4. % Butter milk

Question Number : 50 Question Id : 9679472476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig TS Ie §RIRG Y 3R Woih o YHIthay & Aee I g¥ B! fBiUad B3 &1 Te IS B
Options :

1. % Had-

2. v Gl

3. % TR

4, % QB[S

Question Number : 51 Question Id : 9679472477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the first step in preliminary sewage treatment?
Options :

1. # Grit Chamber

2. % Screening

3. % Primary sedimentation tank

4. ® Settling tank

Question Number : 51 Question Id : 9679472477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
URYS 3ol IUER & Ugdl dheH HIF I7 82
Options :

1. % e 9mR

2. ¥ S

3. ® UTYfies 3radre ot

4. % Yl H

Question Number : 52 Question Id : 9679472478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ferments lactose sugar of milk to lactic acid.
Options :
1. ¥ Lactobacillus
2. % Staphylococcus
3. # Leuconostoc

4. # Streptococcus

Question Number : 52 Question Id : 9679472478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 BT AT WD BT Afdeds 3 | fhiiad drar gl
Options :
1. ¥ daiaRey
2. # KHIAID T
3. % GDHRLID
4. % LUTIHIHY

~

Question Number : 53 Question Id : 9679472479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Name a free living, aerobic nitrogen fixing bacterium.
Options :

1. # Frankia

2. % Anabaena

3. ¥ Azolla

4. ¥ Azospirillum

Question Number : 53 Question Id : 9679472479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T o oiifad, ardIg ATgeie i Rul SiaTg] &1 19 S5y |
Options :

1. % Thfoar

2. % UATEH

3. % 3feilell

4. ¢ TSI REH

Question Number : 54 Question Id : 9679472480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the climatic cycle in Pacific Ocean with global impact on weather pattern?
Options :

1. ¥ El Nino Effect

2. # Global Warming

3. #® Greenhouse effect

4. # Milankovitch cycle

Question Number : 54 Question Id : 9679472480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIT AR H HIH & U IR YH S UHTa aTd Siararg a6h &1 A1 aaTd?

Options :



1. ¢ 3 A gYTd
2. % YHSA SHEHIDHRU]
3. % YHEI3Y YHId

4. % fOd-Topifag I

Question Number : 55 Question Id : 9679472481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following make the seven sister states?

Options :

1. #® Arunachal Pradesh, Assam, Meghalaya, Manipur, Sikkim, Nagaland and Tripura

2. ¥ Arunachal Pradesh, Assam, Meghalaya, Manipur, Mizoram, Nagaland and Tripura
3. # Andhra Pradesh, Assam, Meghalaya, Manipur, Sikkim, Nagaland and Tripura

4. ® Andhra Pradesh, Assam, Meghalaya, Manipur, Mizoram, Nagaland and West Bengal

Question Number : 55 Question Id : 9679472481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # 9 o1 g 987 Ul &) 9411 /2

Options :

1. % U UG, 31H, Turad, AT, Rifawd, Armds sk ARy
2. ¥ 3FUITEE ST, A, HeTay, AR, NIk, AFeS 3R ARt
3. % 3ffg T, 3, Harerd, AR, Rifdwd, Armde ¢k g

4. % 3ffsf YT, W, ToTad, AR, FANIRE, AMS 3R ufyy Sma

Question Number : 56 Question Id : 9679472482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most populated state of India according to 2011 census is
Options :

1. ¥ Maharashtra




2. % Uttar Pradesh
3. # Rajasthan
4. % Tamil Nadu

Question Number : 56 Question Id : 9679472482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 P TUAT & AR YR BT TG T SR arel T gl
Options :

1. ® HeRIY

2. ¢ WY

3. % SR

4. % A TG

Question Number : 57 Question Id : 9679472483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Guru Shikhar is the highest peak of which mountain range?
Options :

1. % Satpura

2. % Sahyadri

3. # Vindhya

4. ¥ Aravalli

Question Number : 57 Question Id : 9679472483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% RRR, o5 gdd ATe &1 9ad Sl ael 82

Options :

1. % JagsT
2. % TElia




3. % fdog
4.« 3RTaq

Question Number : 58 Question Id : 9679472484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The shallowest ocean in the world is
Options :

1. # Indian Ocean

2. % Atlantic Ocean

3. % Arctic Ocean

4. % Antarctic Ocean

Question Number : 58 Question Id : 9679472484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
farey o7 I fsBa HEITR gl
Options :

1. % fg= AR

2. % 3fcdifdd HENNR

3. ¢ FRYI AERNR

4. % GRAUYAN HENNR

Question Number : 59 Question Id : 9679472485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahatma Gandhi was assassinated on
Options :

1. ¥ 30th January, 1948

2. % 28th January, 1948

3. % 30th January, 1947



4. % 28th January, 1947

Question Number : 59 Question Id : 9679472485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T el &bt CARIEARIERI
Options :

1. ¢ 30 SFaR], 1948

2. % 28 SR, 1948

3. % 30 SFARL, 1947

4. % 28 SHARY, 1947

Question Number : 60 Question Id : 9679472486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which slogan was given by Lal Bahadur Shastri?
Options :

1. % 'Satyamev Jayathe'

2. % 'Jai Jawaan, Jai Kisaan'

3. # 'Inquilab Zindabad'

4. ¥ 'Vande Mataram'

Question Number : 60 Question Id : 9679472486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TATCISRTGR T = b1 |1 AIRT & U
Options :

1. % qIHT S

2. ¢ S 5 dM, ST

3. % Fhard fogrere

4. % qc HIRH!




General Awareness2

Group Number : 4

Group Id : 96794734
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794740
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9679472487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the last ruling Maharaja of the princely state of Jammu and Kashmir?
Options :



1. # King Pratap Singh
2. # King Ranbir Singh
3. % King Gulab Singh
4. ¥ King Hari Singh

Question Number : 61 Question Id : 9679472487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 3R HRER $I RId & i ANTS TGRS DI 42
Options :

1. % 7ol YTy g

2. % ol € Rig

3. % o TaTe Rig

4. ¢ ST BR R

Question Number : 62 Question Id : 9679472488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which treaty was signed to put an end to the First World War?
Options :

1. % The Treaty of Paris

2. % Treaty of Versailles

3. # Douglas Treaties

4. ¥ Treaty of Tordesillas

Question Number : 62 Question Id : 9679472488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ugdl fa% gg &1 T B o ot fobg TfY OR geaier fbu a2

Options :

1. % O BT Iy




2. ¢ g Bt I
3. % SIAY Ifr

4. % i ar o Yy

Question Number : 63 Question Id : 9679472489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the World Trade Organization founded?
Options :

1. ¢ Ist January, 1995

2. * 3rd January, 1994

3. # Ist June, 1996

4. % 5th July, 1995

Question Number : 63 Question Id : 9679472489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{39 SMUR T B! R e gg 42
Options :

1. ¢ 1 SFaRT, 1995

2. % 3 AR, 1994

3. % 19, 1996

4. %5 @alé, 1995

Question Number : 64 Question Id : 9679472490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has received a Nobel prize for literature?
Options :

1. ¥ Amartya Sen

2. % Mother Teresa



3. % Rabindranath Tagore
4. # Kailash Satyarthi

Question Number : 64 Question Id : 9679472490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed # € f6 Wit & o Tied QR e g2
Options :

1. % A I

2. % HEX T4

3. ¢ &SI SR

4. % par Ferf

Question Number : 65 Question Id : 9679472491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shinzo Abe is the former Prime Minister of which country?
Options :

1. ¥ Japan

2. % South Korea

3. % China

4. % Philippines

Question Number : 65 Question Id : 9679472491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS 3T fobey <=1 % gd em=Hat g2
Options :

1. # S

2. % S0 B

3. % I



4. % fard=g

Question Number : 66 Question Id : 9679472492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has received the Bharat Ratna Award?
Options :

1. # Kangana Ranaut

2. % Shinzo Abe

3. ¥ Ram Vilas Paswan

4. ¥ Pranab Mukherjee

Question Number : 66 Question Id : 9679472492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifed o ¥ fPd YRd I REPR UTd g3 82
Options :

1. % I q0Mad

2. % RISl 3frdl

3. % M URIQ

4. YU @i

Question Number : 67 Question Id : 9679472493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the national president of the Indian Medical Association (IMA) 2016-17?
Options :

1. #* Dr. Devi Prasad Shetty

2. % Dr. Ajay Kaul

3. # Dr. Santanu Sen

4. % Dr. Krishan Kumar Aggarwal



Question Number : 67 Question Id : 9679472493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifed & 9 &1 YR Rifs 99 2016-17 & TP el A2
Options :

1. % ST 3 oTe g

2. % . 3O DI

3. % 3 Qa4

4. ¢ Sl DU HHR U

Question Number : 68 Question Id : 9679472494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the latest Swacch Survekshan 2020, which city of India has been announced as the cleanest?
Options :

1. # Mysore

2. % Indore

3. # New Delhi

4. % Navi Mumbai

Question Number : 68 Question Id : 9679472494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATAH WSS FAEUT 2020 % SIUR, HRA & [y UER $! Yad W Uiivd foram mar g2
Options :

1. % IRR

2. ¥ EGR

3. % % foedt

4. % =4t g



Question Number : 69 Question Id : 9679472495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
app launched by RBI is used to help the visually impaired to identify denomination of note.
Options :
1. * Mobile Application Note Identifier
2. % Money Assistant Note Identifier
3. % Mobile Aided Note Identifier
4. % Money Aided Note Identifier

Question Number : 69 Question Id : 9679472495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RBI gRT V&I &1 T8 TU T IGGRT = BT AT B! Ale & Yedat| b Uga B B Hag H3- & ford fordm S g |
Options :

1. % Hiasd UQIH R e S CHRR

2. % T} SRRCT Al S SfChR

3. ¥ QIAEd TS S AT 3SSCHRR

4. % A USS FlC SIS CHRR

Question Number : 70 Question Id : 9679472496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is the least gender equal according to the Gender Inequality Index (GII) 2019?
Options :

1. ¥ Yemen

2. # Ireland

3. % Denmark

4. % Switzerland

Question Number : 70 Question Id : 9679472496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e ST Fehich 2019 & TR JA HH o7 FHAT Tl &= DI A1 62
Options :

1. ¢ T

2. % 3RRAS

3. % SHID

4. % GRS

N

Question Number : 71 Question Id : 9679472497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the first COVID 19 vaccine approved by World Health Organization?
Options :

1. ¥ Pfizer

2. % Moderna

3. # Covishield

4. # Sputnik

Question Number : 71 Question Id : 9679472497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8y TR TS GRT SHITGT Ugal HITAS 19 el HIF AT 82
Options :

1. ¢ ThIgolR

2. % Tl

3. % Pifaiics

4. % WdHD

Question Number : 72 Question Id : 9679472498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Name the country with the longest constitution in the world.
Options :

1. * France

2. ¥ India

3. ® Japan

4. # United States Of America

Question Number : 72 Question Id : 9679472498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 ¥ geY de AfqU™ arel 41 &1 A1 9arsu|
Options :

1. % By

2. % HRd

3. % MU=

4. % Yo I AR

Question Number : 73 Question Id : 9679472499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the first constitutional amendment take place, in India?
Options :

1. * 1961

2. % 1949

3. % 1950

4.9 1951

Question Number : 73 Question Id : 9679472499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR H, Tga Sfaum Id=ne fog o o g um

Options :



1. % 1961
2. % 1949
3. % 1950
4.9 1951

Question Number : 74 Question Id : 9679472500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 1950, the constitution of India was published in the city of

Options :

1. # Mussoorie
2. % Bombay
3. ¥ Dehradun
4. % Delhi

Question Number : 74 Question Id : 9679472500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1950 T, YRd &1 Afdur R T Uh1IRId g AT
Options :

1. % Tl

2. % §id

3. ¥ qgRIgA

4. % foceht

Question Number : 75 Question Id : 9679472501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first president (temporary Chairman of the Assembly) of the Constituent Assembly when it met on 9 December 1946 was
Options :

1. % Dr Sachchidananda Sinha



2. % Bhimrao Ramji Ambedkar
3. ¥ Mohandas Karamchand Gandhi

4. % Prem Behari Narain Raizada

Question Number : 75 Question Id : 9679472501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faeR 1946 P T WA THT Bt I&F B3 <l ST Ugal 3redef (FqemaquT o1 st sremen) |
Options :

1. ¢ ST Ofergr< Rl

2. % YITR1G A STESH

3. % HIgTER] I il

4. % Y fogR} ARM™IU ITITET

Question Number : 76 Question Id : 9679472502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Viswanathan Anand is associated with which sport?
Options :

1. # Squash

2. % Chess

3. ® Carrom

4. % Table Tennis

Question Number : 76 Question Id : 9679472502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iy o fhd Wa 4 I 8?2
Options :

1. % W

2. ¥ YRS




3. % BHIH
4. % ¢gd g

Question Number : 77 Question Id : 9679472503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the 2008 Summer Olympics gold medal winner for shooting.
Options :

1. # Gagan Narang

2. # Rajyavardhan Singh Rathore

3. % Anjali Bhagwat

4. ¥ Abhinav Bindra

Question Number : 77 Question Id : 9679472503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & fRIE 2008 F WHBTA (THR) it ol Uge faoidr &7 11 §d3t|
Options :

1. % T AR

2. % JouadH Rig W8s

3. % 3iSTell HITad

4. ¢ 31fiq faa

Question Number : 78 Question Id : 9679472504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is a wrestler who won the bronze medal at the 2016 Summer Olympics?
Options :

1. # Kavita Devi

2. % Geeta Phogat

3. % Babita Phogat



4. " Sakshi Malik

Question Number : 78 Question Id : 9679472504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o @ 19 ugaar 8§ SR 2016 HeAwTa Sicfies § B e Sidr 41
Options :

1. % Hfadr gt

2. % I BRTE

3. % FaIdI®ITe

4. ¢ reit Afce

Question Number : 79 Question Id : 9679472505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Leander Paes is a professional player.
Options :

1. # Table Tennis

2. # Badminton

3. % Tennis

4. ¥ Squash

Question Number : 79 Question Id : 9679472505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R foarsti|l
Options :

1. % ¢9d g

2. % gefHed

3. ¢

4. % W



Question Number : 80 Question Id : 9679472506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country won the maximum medals in The 2018 Commonwealth Games?
Options :

1. # India

2. % England

3. ¥ Australia

4. % (Canada

Question Number : 80 Question Id : 9679472506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 IAFHSH Wil H fobd G2 7 i Yash Siicl?
Options :

1. # HRd

2. % 3108

3. ¢ Sfiecfer

4, % PpAlS]

Arithmetic Abilityl
Group Number : 5
Group Id : 96794735
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Abilityl

Section Id : 96794735
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794741
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9679472507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When 0.433333... is converted into a fraction then the result in fraction is?
Options :

1. * 43/100

2. % 9/4

3.9 13/30

4. % 43/1000

Question Number : 81 Question Id : 9679472507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OIE 0.433333... 1 ol H et Sfra 3 o ol o aRome 31
Options :

1. % 43/100

2. % 9/4



3. % 13/30
4. % 43/1000

Question Number : 82 Question Id : 9679472508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the biggest and the smallest fraction among 7/9, 8/11, 10/13, 12/17, 19/27?
Options :

1. # 12/357

2.9 2/27

3. % 46/388

4. % 15/357

Question Number : 82 Question Id : 9679472508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7/9, 8/11, 10/13, 12/17, 19/27 ¥ Ta¥ g3} 3R I B fia § 7 3fcR 82
Options :

1. * 12/357

2.9 2/27

3. % 46/388

4. % 15/357

Question Number : 83 Question Id : 9679472509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain office, 2/5 of the workers are women. 1/2 of the women are married and 1/4 of the married women have children. If 2/3 of the man
are married and 2/3 of the married man have children, what part of workers are without children?

Options :

1. ¥ 41/60
2. % 172/300
3. % 150/300



4. % 125/300

Question Number : 83 Question Id : 9679472509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U i srtaa #, 4ffe! # 9 2/s Afeart g1 1/2 Afgant faarfed § $iR 1/4 faarfed Afgamst & 5= §1 af 2/3 gou faanfea § 8k 2/3
faarfed g8 & 9= g, o 4fiep o1 foraT 1T =it & foT 32

Options :

1. ¥ 41/60

2. % 172/300

3. % 150/300

4. % 125/300

Question Number : 84 Question Id : 9679472510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train full with passengers drop 2/5 of the passengers and takes 200 more. At the second station, it drops half of the new total and takes 40
more. On third station it is found to have 245 passengers. What is the total number of passengers in the beginning?

Options :
1. * 200
2. % 250
3. ¥ 350
4. % 450

Question Number : 84 Question Id : 9679472510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I § 1R U XTIl AT § ¥ 2/5 BT IARGH & 3R 200 3R A 81 IR WM WR, g U G BT 37T AR § 3R 40 34fAFH o
Il B 1 R TR OR UTT Il & o S0H 245 T G R 38 ¢ | T3 | A1 B e e foat g2

Options :

1. % 200

2. % 250



3. % 350
4. %= 450

Question Number : 85 Question Id : 9679472511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An old member retired from a club and a new member was added. The average age of the 6 members is the same as it was 5 years ago. What is
the difference between the age of the member retired and the new member?

Options :
1. ¥ 30
2. %25
3. % 20
4. % 35

Question Number : 85 Question Id : 9679472511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 9 YW e & Aa1ge gaiT 3R Ta1 e Siie1 T 6 Y&l &1 3Nd 31g agl & S 5 a8 uga oY | Yarfige e 3R T¢ ge=
&I Mg H T R B2

Options :

1. ¥ 30

2. %25

3. % 20

4. % 35

Question Number : 86 Question Id : 9679472512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family has grandparents, parents and five grandchildren. The average age of grandparents is 7 years more than the 1.5 times the average age of
parents. The average age of parents is 45 years. The average age of grandchildren is 15 years. Find the average age of the family.

Options :
1. * 36.89 years



2. % 29.32 years
3. % 28.34 years
4. ¥ 34.89 years

Question Number : 86 Question Id : 9679472512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T URaR H grer-are, Aral-fdr oik ua dd-uifaai 81 grer-are &t Siyd Sy ATd1-fodr &t Sid Sy & 1.5 T 7 98 34T § 1 ATdl-
O 1 3N 31T 45 T8 g | UId-Tifadl & 3 g 15 a9 § 1 URaR Bt 3 Mg J1d B |

Options :

1. % 36.89 99

2. %2932 Y

3. % 2834 7Y

4. 34.89 T

Question Number : 87 Question Id : 9679472513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average annual income of service workers is S and that of factory workers is F. The number of service workers is 11 times that of factory
workers. Find the average monthly income of all the workers.

Options :

1. % S+11F/12
2. % 11S+(F)/12
3. % (11S+F)/12
4. % 11S+F/12

Question Number : 87 Question Id : 9679472513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 4Dl BT 3d AT 3T S § 3R FRWMH & YHH! B F 8| AT 40D bt W HREH &b HHDb! Bt 11 T8 1 Gt offrep) ot
3T AT 311 1 R |

Options :



1. % S+11F/12
2. % 11S+(F)/12
3. ¢ (11S+F)/12
4. % 11S+F/12

Question Number : 88 Question Id : 9679472514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Ramesh's height is 35% less than Suresh then by what percent is height of Suresh more than Ramesh?
Options :

1. # 65.00 percent

2. ¥ 53.85 percent

3. % 50.85 percent

4. # 2.85 percent

Question Number : 88 Question Id : 9679472514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S XU DT TETS P I 35% HH 6, AT Y= D1 s 0 I fova- U= i g2
Options :

1. % 65.00 Ufa=rd

2. ¥ 53.85 Ufd=rd

3. % 50.85 Ufd=rd

4. % 285 gfdwrd

Question Number : 89 Question Id : 9679472515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram spends 85% of his income. His income is increased by 20% and he increased his expenditure by 15%. What is the percentage increase in his
savings?

Options :

1. ¥ 48.33 percent



2. % 32.32 percent
3. % 5.00 percent
4. * 35.00 percent

Question Number : 89 Question Id : 9679472515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%mam:ﬂsﬂawsmmm%lwﬁ&mﬁzo%ﬁq@‘@“aﬁ?m&mﬁmﬁ15%ﬁq@ﬁlwﬁwﬁuﬁmq@mﬁ
)

Options :

1. ¢ 4833 Ufdrd

2. % 3232 gfa=rd

3. % 5.00 Ufawrd

4. % 35,00 Ufaerd

Question Number : 90 Question Id : 9679472516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, 80% of the students passed in Science and 85% of the students passed in social science. 70% of the students passed in both the
subjects. If 40 students failed in both the subjects then what is the total number of students?

Options :
1. * 600
2. % 200
3. % 400
4. % 800

Question Number : 90 Question Id : 9679472516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UIeT 3, 80% B fagm H Iitof gU oIk 85% ST qronfores fag & I<itol §UI 70% B a1 fawal § 3ol gul 3 40 faemadf g1
fawat & il g1a €, o el &) oot G fai 82

Options :




1. # 600
2. % 200
3. # 400
4. % 800

Question Number : 91 Question Id : 9679472517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of photocopying 1 paper is Rs. 2. However, there's a discount of 4% for all papers above 800 papers. How much will it cost to
photocopy 4850 sheets?

Options :

1. ® Rs. 1600
2. % Rs. 9376
3. % Rs. 9700
4. % Rs. 9312

Question Number : 91 Question Id : 9679472517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

| BTN ! WIeIDIUl ! AT 2 TUU § | BTaifdh, 800 BTG W SR & it dTel & AT 4% 1 Be g1 4850 e Bl BleidIU A o
fapait emTd gl

Options :

1. # 1600 ®UU

2. % 9376 ¥UU

3. % 9700 %Uq
4. % 9312 94U

Question Number : 92 Question Id : 9679472518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sold 4/5th of his articles at a margin of 15%. The remaining 1/5th he sold at cost price. What is his profit earned by him in the
entire transaction?



Options :

1. # 9.0 percent
2. # 3.0 percent
3. % 10.0 percent
4. ¥ 12.0 percent

Question Number : 92 Question Id : 9679472518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHIGR - T T BT 4/5 UTT 15% b ATH TR odT| [N 1/5 BT 98 AT Hed IR 99dl ¢ | T -1 B 39D gRT Afofd a1y fara g2
Options :

1. % 9.0 gfa=rd
2. % 3.0 ufderd
3. % 10.0 Ufawrd
4. ¥ 12.0 Ufa=rd

Question Number : 93 Question Id : 9679472519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram sells 35 metres of cloth and gains the selling price of 7 metres. What is the gain percentage?
Options :

1. # 15.0 percent

2. % 20.0 percent

3. % 25.0 percent

4. % 30.0 percent

Question Number : 93 Question Id : 9679472519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W 35 Hex HUST I=dT § 3R 7 Hiex &1 fasha Yoo Ut &l g | T fa<rd am g2

Options :




1. # 15.0 gfa=rd
2. % 20.0 Ufa=rd
3. ¢ 25.0 Ufderd
4. % 30.0 gfa=rd

Question Number : 94 Question Id : 9679472520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of an article has increased by 75% after passing through 3 hands. If the first and the second sellers earned 25% and 15% profit
respectively, what is the profit percentage earned by the third seller?

Options :

1. ¥ 21.7 percent
2. % 23.1 percent
3. % 25.5 percent
4. ® 26.5 percent

Question Number : 94 Question Id : 9679472520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I & Hed H 3 IR fdd & 91E 75% D1 9ia 88 ¢ | afe Tgd SR ga faohal 5 SHHRT: 25% 3R 15% &1 A4 ford fobar, o TR
faohar grRr SifSfa my wfa=rd @ |2

Options :

1. ¢ 21.7 Ufa=rd
2. % 231 yfa=rd
3. % 255 gfavrd
4. % 265 gfa=rd

Question Number : 95 Question Id : 9679472521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifa:b=7:13andb:c=17:21 then whatisa:b:c?
Options :



1. % 221:273:119
2.¥119:221:273
3. % 273:119:221
4, % 221:119:273

Question Number : 95 Question Id : 9679472521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
q%a:b=7:133?|Tb:c=17:21?‘ﬁa:b:cwg?
Options :

1. % 221:273:119

2.9 119:221:273

3. % 273:119:221

4, % 221:119:273

Question Number : 96 Question Id : 9679472522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The prices of scooter and TV are in the ratio 11 : 9. If the scooter costs Rs. 9000 more than the TV, then what is twice the price of TV set?
Options :

1. * 40500

2. * 45000

3. % 81000

4. % 90000

Question Number : 96 Question Id : 9679472522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHex AR G & Yo 11 : 9 &b U | & | Al Wpex & ANTd Sdl I 9000 TUT A &, f ot YT & Yo &1 &l 1 a1 &2
Options :

1. % 40500

2. % 45000




3. % 81000
4. % 90000

Question Number : 97 Question Id : 9679472523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sides of a right angled triangle are in the ratio 3 : 7 : 11. The area of the triangle is 108 sq. cm. What is the length of the longest side?
Options :

1.¥ 352

2. % 322

3. % 313

4, % 333

Question Number : 97 Question Id : 9679472523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHABIU Y BT YoTafi &7 SUTd 3 : 7: 11 81 Y BT &AH 108 sq. cm & | T AT YT P AT T 82
Options :

1. %352

2. % 322

3. % 313

4. % 333

Question Number : 98 Question Id : 9679472524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of incomes of A and B are 13 : 15. The ratio of their expenditures are 4 : 7. At the end of the year each saves Rs. 8,000. What is the
salary of B (in Rs.)?

Options :

1. % 10612.90
2.% 11612.90
3. % 12612.90



4. % 13612.90

Question Number : 98 Question Id : 9679472524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B P 3T HT 3JUM 13 : 15 8| 3T ST BT 3UM 4 : 7 8| T8 & 3fd T YA 8,000 SUT AT & | B &1 da- (FUT T &7 &2
Options :

1. % 10612.90

2. ¥ 11612.90

3. % 12612.90

4. % 13612.90

Question Number : 99 Question Id : 9679472525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the annual effective rate of interest corresponding to a nominal rate of 12.5% p.a. payable bi-annually?
Options :

1. # 6.3 percent

2. % 25.0 percent

3. % 12.5 percent

4. ¥ 12.9 percent

Question Number : 99 Question Id : 9679472525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa af 12.5% B! Fibfads R F =T A THId sarel o= a1 § ot fganfes < 82
Options :

1. % 6.3 Ufa=rd

2. % 25.0 Ufa=rd

3. % 12,5 yfa=rd

4.+ 12.9 Ufa=Id



Question Number : 100 Question Id : 9679472526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Smith borrowed an amount at variable rate of simple interest. The interest for first 2 years was at 7% p.a., for next 3 years the interest was 10%
p.a. and 14% p.a. beyond 5 years. He pays a total of Rs. 12000 at the end of 10 years. What is the sum of money that he borrowed?

Options :

1. ¥ Rs. 5607.48
2. % Rs. 5068.89
3. # Rs. 4523.65
4. % Rs. 7689.34

Question Number : 100 Question Id : 9679472526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3 YR T BT URGAH1T a3 TR U A SYR T | TS 2 I o ford saret ufay 9 79 U1, 3T 3 9t o forw samet ufa aef 109 a1
3R 5 oy F faaef 14% o1 | 98 10 98 & 3 H Fd 12000 FUYT BT YA BT ¢ | IT a1 R IR ¢t g2

Options :

1. ¥ 5607.48 ¥UUQ
2. % 50068.89 2UU
3. % 4523.65%UU
4, % 7689.34 24U

Arithmetic Ability2

Group Number : 6

Group Id : 96794736
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 96794736
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794742
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9679472527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the compound interest and the simple interest for 3 years at a rate of 12% p.a. is Rs. 831.168. If the interest were
compounded quarterly then the difference in the two interest will be.

Options :

1. * Rs. 1314.23
2. % Rs. 1216.58
3. * Rs. 1312.34
4. % Rs.2312.23

Question Number : 101 Question Id : 9679472527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12% Ufd g8 @1 &R ¥ 3 T o oY Tehgf STST 3R AR AT & &9 BT 3R 831.168 ¥UT g | TS SIS AHNIS U 4 Tehgia gl <l
G TSl B 3R ghT|




Options :

1. % 1314.23%UC¢
2.9 1216.58 2UU
3. % 1312.34%04U
4. % 2312.23 2407

Question Number : 102 Question Id : 9679472528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man borrows Rs. 17500 at an interest of 15% p.a. compounded semi-annually. At the end of every year he pays Rs. 2500 as the installment
money. How much does he owe if he had paid 4 such installment?

Options :

1. ¥ Rs. 43718.67
2. % Rs.25161.23
3. % Rs. 43091.05
4. ¥ Rs. 18624.87

Question Number : 102 Question Id : 9679472528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T MTeH! e s Ihgfg TR Ufday 15% & &MoT TR 17500 UL SYR dT 5 | X I o 3fd & a8 2500 $UT fh= A & TG H Y
Al ¢ | afe 3T U 4 el &1 YIra o g ot Sqe faraTT ST g

Options :

1. % 43718.67 24U
2. % 25161.23 24U
3. % 43091.05®UU
4. ¥ 18624.87 34U

Question Number : 103 Question Id : 9679472529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aman completed his journey in 12.5 hours. He travelled the first half of the journey at 28 kmph and second half at 35 kmph. What is the total



distance covered by Aman?
Options :

1. ¥ 393.75 Km

2. % 353,76 Km

3. ¥ 388.89 Km

4. % 34198 km

Question Number : 103 Question Id : 9679472529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3F 7 U T 12.5 9 H Q&1 | I I & U MY TR BT 28 kmph BT 7T T 3R G 3718 3 &Y 35 kmph 1 71 7 fowam|
S GRT T B 715 Ha g3 fbal 67

Options :

1. % 393.75 Km

2. % 353.76 Km

3. ¥ 388.89 Km

4. % 341.98 km

Question Number : 104 Question Id : 9679472530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankit travelled from the village to the courier office at a rate of 24 kmph. He walked back at a rate of 5 kmph. If the whole journey took 5 hours
and 10 minutes, what is the distance of the courier office from the village?

Options :

1. # 12.56 km
2. % 22.67 km
3.9 21.38 km
4, % 3234 km

Question Number : 104 Question Id : 9679472530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&mﬁm‘q’@rgﬂwe HTIATT I 24 kmph D1 7T F AT D1 T8 5 kmph B 110 W ITIY I 7| TS QA AETH 5 €9 10 fiFe TAE,
I 7 O SRR HraTad oI gl fbant 82

Options :

1. % 12.56 km
2. % 22.67 km
3.9 21.38 km
4, % 3234 km

Question Number : 105 Question Id : 9679472531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A passenger train leaves the station at a fixed speed. After 5 hours, an express train leaves the same station and moves in the same direction at a
fixed speed of 100 kmph. The express train catches the passenger train in 5 hours. What is the speed of passenger train?

Options :

1. ¥ 75 km/h
2. % 50 km/h
3. % 55 km/h
4. % 60 km/h

Question Number : 105 Question Id : 9679472531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS I Yae! fAfEd 1fa ¥ W[ ¥ Readi 81 5 9 & 91e, Th TR Yaat 341 $IH J Al 8 8k 3 fG=M H 100 kmph Pt
Ry TRy @ T 1 Tt Ye s 6 A ar Yo U edt 21 g Yere) @it i w2

Options :

1. # 75 km/h
2. % 50 km/h
3. % 55 km/h
4. % 60 km/h

Question Number : 106 Question Id : 9679472532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A and B can do a carpeting job in 5 days. B can do the same carpeting job in 8 days. How long will A take to complete the job if he works half
his efficiency?

Options :

1. % 13.33 days
2. % 10.57 days
3. % 26.67 days
4. % 16.67 days

Question Number : 106 Question Id : 9679472532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B BTeiH f93M &1 W 5 3 § 5% Thd 81 B I el f9s™ & B & 8 G & B Tpar 31 afe A 3ot aneh ergar @ wrf
FRAT § A U B T HA H a1 90g T

Options :

1. % 1333 A

2. % 10.57 &7

3. ¢ 26.67 A

4. % 166727

Question Number : 107 Question Id : 9679472533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Krishna can do a work in 3 days and Radha can do the same job in 2 days. Both of them work together and get Rs. 300 paid. What is the share of
Radha?

Options :

1. # Rs. 110
2. % Rs. 120
3. % Rs. 150
4. ¥ Rs. 180

Question Number : 107 Question Id : 9679472533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FUTH B &1 3 37 T R qHhd1 § 3R 141 3T H1f & 2 7 B o vt 81 9 TH1 Th TTY HTH R & 3R 300 T HT YA I
H | T BT R A B2

Options :

1. % 110%UU
2. % 120>UC¢
3. % 150 ®UUd
4. % 180%UU

Question Number : 108 Question Id : 9679472534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a piece of work in 10 days working 6 hours a day. B can do the same job in 7 days working 8 hours a day. They both are now working
together for 5 hours a day. How long will they take to complete the job?

Options :

1. ¥ 6 days
2. # 5 days
3. ®# 7 days
4. % 8 days

Question Number : 108 Question Id : 9679472534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TH B &) Ufdfe 6 9 S H3b 10 fe § 5 b1 81 B I o1 1 ufafe 8 62 Hri ovp 7 il A R gpar g1 3 gl 31
Ufafe 5 9¢ Th Y HTH PR IQ & | S8 BT T B H o1 I8

Options :

1. ¢ 6faA

2. % 5faq

3. % 7feq

4. % gfaq




Question Number : 109 Question Id : 9679472535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C can complete a job working 10 days and 8 hours a day. D can complete the same job in 12 days working 7 hours a day. If they both work
together for 6 hours a day and 5 days a week, how many days will they take to complete the job?

Options :

1. # 10 days
2. % 7 days
3. ¥ 9 days
4. # 8 days

Question Number : 109 Question Id : 9679472535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C ST 8 He YA B dXPb Th B BI 10 37 T T HR a1 g1 D I SR P17 °e Ufafes w1 w12 TG & [ R Iavar g | afe
A TP 3T 7 6 9 3R Iuig & 5 37 T 1 1 3l &, Al 1 ) [T bl 7 32 e 1 e

Options :

1. % 10feq

2. % 7faA

3.¢9feA

4. % gfaq

Question Number : 110 Question Id : 9679472536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The perimeters of two squares are 80 cm and 64 cm. Find the perimeter of the third square whose area is equal to the difference of the areas of
the two squares.

Options :

1. % 36 cm
2. % 54 cm
3.9 48 cm
4. % 96 cm



Question Number : 110 Question Id : 9679472536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Tl o TR 80 cm 3R 64 cm & | TR I 1 IRUTY 1A B FOrADBT EAHA &l I & &ABl b R b SRR 5|
Options :

1. # 36 cm

2. % 54 cm

3. % 48 cm

4. % 96 cm

Question Number : 111 Question Id : 9679472537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rectangular tank that has dimension of 150 m x 120 m. Water flows into the tank through a rectangular pipe 1.25 m x 1m @ 25 kmph. In what
time (in minutes) will the water rise by 2.5 meters?

Options :

1. # 84.5 mins
2. ¥ 86.4 mins
3. % 80 mins

4. % 89 mins

Question Number : 111 Question Id : 9679472537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH AATHR TP FOTRIHT AT 150 m x 120 m g1 TTHT STIATHR UTSY 1.25 m x 1 m @ 25 kmph & AW Y bt & gga1 g | foa wvg |
e 7Y gt 2.5 m TR ST

Options :

1. % 84.5f0Fe
2.+ 86.4 e
3. % g0 e
4. % gofie




Question Number : 112 Question Id : 9679472538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A vessel is conical in shape. The internal radius is 21 cm and height is 70 cm. The vessel is full of water. The water is emptied into a cylindrical
vessel with internal radius 14 cm. What will be the height to which the liquid rises in the cylindrical vessel?

Options :

1. ¥ 52.5cm
2. % 75 cm
3. % 37.5cm
4. % 65cm

Question Number : 112 Question Id : 9679472538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Fa- ATHR H YBIHR g | SMaRd BT 21 em R FTTS 70 em | T T HRIGIAT R | T BT 14 em DT AR Broam ara
JTHR S | WTelt f5a1 1 8 | SR a4 B 5a fbant $aTs d SHUR M2

Options :

1. ¥ 52.5¢cm

2. % 75 cm

3. % 375cm

4. % 65cm

Question Number : 113 Question Id : 9679472539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the years 2012 and 2013, the total number of Operators who left the company is what approximately percentage of the total number of
Operators who joined the company?



Peons Accountants Operators Managers
Year
New Left New Left New Left New Left
2012 74 273 571 230 606 258 LO6 204
2013 78 247 503 222 Le7 226 622 223
2014 L76 201 608 276 636 257 657 245
2015 78 274 530 267 661 245 LO6 205
2016 636 203 621 252 LS50 238 611 283
2017 644 264 607 262 694 280 550 275
Options :

1. # 40 percent
2. ¥ 41 percent
3. % 42 percent
4. % 43 percent

Question Number : 113 Question Id : 9679472539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ay 2012 3R 2013 & GRM, B B aTdl TAAD! DI H WA HUAHT B (gdd g aTal TaTereh! o e IReAT BT THIT fraT1 ufa=ra
8?

& Tt FEER IEIEE TEUD

2012 574 273 571 230 06 58 596 g
2013 578 247 503 FrF) 567 Frl] [ FF] X3
2014 576 291 698 Te B36 %7 657 25
2015 - 578 . 274 | 530 - FLT i 661 245 1 5396 i a5
2016 616 43 621 %2 550 i 611 xHi
2017 b8 264 Bad Mol 54 180 5%0 £S5




Options :

1. % 40 gfard
2. ¢ 41 Ufa=d
3. % 42 gfa=rd
4. % 43 gfaerd

Question Number : 114 Question Id : 9679472540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the below and above poverty line population is 1 : 2 in states A and C. If the population below poverty line for State A is 3.3 million
and that of State C is 5.4 million, then what is the ratio of the total male population of states A and C?

Proportion of Males and Females
State
Below Poverty Line | Above Poverty Line

A 3.7 2:3

B 4:9 35

c 56 5:9

D 6:11 7:0
Options :
1.¥0575:1
2. % 241:1
3.% 3:1
4. % 1.21:1

Question Number : 114 Question Id : 9679472540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST A 3R ¢ T RIS @1 ¥ i iR SHUR &1 SHEeAT BT UM 1 : 2 §1 TG IAoT A & [ TRIT 61 & =i DI ST 3.3 ffera ok
ST C 1 5.4 TR 8, 0 Iai A 3R ¢ & o 5 YW S RIe BT 3UTd T 87




gou1 IR Afearsd 1 Agare
e
TRIE Y & A | e S

A 3.7 2:3

B 4:9 35

c 5:b 5:9

D 6:11 7:9
Options :
1.¥0.575:1
2.% 241:1
3.% 3:1
4. % 121:1

Question Number : 115 Question Id : 9679472541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which subject the overall percentage is the best considering the maximum marks that can be obtained in all the subjects is 100?



Subjects
S Maths Physies | Geography g History
Science
Ramesh 47 52 76 84 40
Suresh 59 44 96 20 71
Biresh 28 65 84 76 82
Brijesh a2 a2 a5 76 85
Komal 65 67 80 46 87
Dipika 50 27 100 45 85
Options :
1. % Maths

2. ¥ Geography
3. % Computer Science
4. * History

Question Number : 115 Question Id : 9679472541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt fawal & o fohw ST e a1 SIS aH i 100 BT gEd gu o fawa § Ty Uia=d vey 31 82



fararat
L1k
i Wifaet i |sege fagm|  gfaew
T a7 52 7% 84 2
Y= M 80 n
ﬁﬂ'ﬂf 28 65 84 76 82
foarsrar 82 a2 a5 76 85
m b5 b7 BO 46 &7
ittt 59 87 100 15 85
Options :
1. % T7Orq
2. ¥ IId
3. % SR fag

4. % gidgr

Question Number : 116 Question Id : 9679472542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which section has the maximum success rate in half yearly examination?



Mumber of Students

axams

Result
Section A Section B Section C Section D
Students failed in both exams 21 16 24 22
Students passed in both
53 52 46 49
exams
Students passed in half-yearly
exams but failed in Annual 7 12 10 10
exams
Students failed in half-yearly
exams but passed in Annual 19 20 20 19

Options :

1. ¥ Section A
2. ¥ Section B
3. % Section C
4. ® Section D

Question Number : 116 Question Id : 9679472542 Question Type :

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

efarifer Uten o fhy Ws o1 I ardr ) 3HfihdH g2

MCQ Option Shuffling : Yes Is Question Mandatory : No Option




oEl B HE
ufyoms
TEA @Ee e c s
a‘lﬁfuﬂmaﬁﬁa@:ﬁnfgqm n 16 2a 22
T oftamalt & Il gu faemdf 53 52 6 9
%m%ﬂﬁﬂﬁ% - = " -
Options :
1. % IS A
2. ¥ WS B
3. % W3 C
4. % 8D

Question Number : 117 Question Id : 9679472543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year there has been a maximum percentage increase in the amount invested in raw materials as compared to previous year?



JEFEEEEEREE

Amount invested in raw material

2015 2016 2017 2018 2019 2020

Year

Options :
1. % 2015
2.9 2016
3. % 2017
4. % 2018

Question Number : 117 Question Id : 9679472543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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30000 - 47447 45247
45000

35000

30000
25000

20000
15000
10000

5000

oo WA | A= Bt g A

2015 2016 2017 2018 2019 2020

Options :
1. ® 2015
2.¥ 2016
3. % 2017
4. % 2018

Question Number : 118 Question Id : 9679472544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During the period, which product had the maximum increase in the rate of sales?



m 2018 m 2019
300 - 271 280 279 268
245
s 217 217
o 200 4 178 178 182 181
® 154 159
e 117
& 100 -
50 -
ﬂ -
Lipsticks Nail Soap  Face Cream Compact Kajal Eyeliner
Remover
Products
Options :

1. ® Lipsticks

2. ® Nail Remover
3. ¥ Kajal

4. ® Soap

Question Number : 118 Question Id : 9679472544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fafy & GRM, g IaTe B! faept % & Faifie 3fg g3



m 2018 = 2019

;

271

8

g

178

268
217 217
181
159
II m Il
FHHIE E Qe HTEETEY

Options :

1. % foufesy
2. % 9 RgaR
3. ¥ DINd

4. % g

Question Number : 119 Question Id : 9679472545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For which car model the change in percentage rise/fall in production from 2017 to 2018 was minimum?



EA BB EC ED mE EF ' G

;

?

20%
15%

R

Percentage rise/fall in car production

2018

Year

Options :
1. % A
2.¢D
3.%F
4. % G

Question Number : 119 Question Id : 9679472545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % A
2.¥D
3.%F
4. % G

Question Number : 120 Question Id : 9679472546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the difference between the production of the two company's in the given years?



~=—Production of Company X —=—Production of Company Y
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100 -

Production
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Year

Options :
1. ¥ 262
2. % 261
3. % 263
4. ® 264

Question Number : 120 Question Id : 9679472546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 262
2. % 261
3. % 263
4. % 264
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Question Number : 121 Question Id : 9679472547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

When the cross-country team post yet / another championship banner / in the gym, more kids will sign up.
Options :

1. ¥ When the cross-country team post yet

2. % another championship banner

3. # in the gym, more kids will sign up.

4. ¥ No Error

Question Number : 121 Question Id : 9679472547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

When the cross-country team post yet / another championship banner / in the gym, more kids will sign up.
Options :
1. ¥ When the cross-country team post yet



2. % another championship banner
3. #* in the gym, more kids will sign up.
4. % No Error

Question Number : 122 Question Id : 9679472548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Given our cultures' obsession with technology / you might expect that "technology" would absorb / a significant portion of the discussion.
Options :

1. ¥ Given our cultures' obsession with technology

2. # you might expect that "technology" would absorb

3. % asignificant portion of the discussion.

4. % No Error

Question Number : 122 Question Id : 9679472548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Given our cultures' obsession with technology / you might expect that "technology" would absorb / a significant portion of the discussion.
Options :

1. ¥ Given our cultures' obsession with technology

2. # you might expect that "technology" would absorb

3. % asignificant portion of the discussion.

4. % No Error

Question Number : 123 Question Id : 9679472549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

We were quiet surprised to find that / about 80% of the good executives we interviewed didn’t even / mention technology as one of their strong
holds.

Options :

1. ¥ We were quiet surprised to find that

2. % about 80% of the good executives we interviewed didn’t even
3. # mention technology as one of their strong holds.

4. ® No Error

Question Number : 123 Question Id : 9679472549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

We were quiet surprised to find that / about 80% of the good executives we interviewed didn’t even / mention technology as one of their strong
holds.

Options :

1. ¥ We were quiet surprised to find that

2. % about 80% of the good executives we interviewed didn’t even
3. % mention technology as one of their strong holds.

4. # No Error

Question Number : 124 Question Id : 9679472550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Whether you have a culture of / discipline, you can give people more freedom to experiment / and find their own best path to results.
Options :
1. ¥ Whether you have a culture of



2. # discipline, you can give people more freedom to experiment
3. # and find their own best path to results.
4. ® No Error

Question Number : 124 Question Id : 9679472550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Whether you have a culture of / discipline, you can give people more freedom to experiment / and find their own best path to results.
Options :

1. ¥ Whether you have a culture of

2. % discipline, you can give people more freedom to experiment

3. # and find their own best path to results.

4. ® No Error

Question Number : 125 Question Id : 9679472551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Nucor, for example, became widely known / as one of the most aggressive pioneer in / the application of mini-mill steel manufacturing.
Options :

1. #® Nucor, for example, became widely known

2. % as one of the most aggressive pioneer in

3. # the application of mini-mill steel manufacturing.

4. ® No Error

Question Number : 125 Question Id : 9679472551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Nucor, for example, became widely known / as one of the most aggressive pioneer in / the application of mini-mill steel manufacturing.
Options :

1. * Nucor, for example, became widely known

2. % as one of the most aggressive pioneer in

3. # the application of mini-mill steel manufacturing.

4. % No Error

Question Number : 126 Question Id : 9679472552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(This is there true passion) more than lightbulbs, jet engines, or television programming.
Options :

1. ¥ This is their true passion

2. # Those are there true passion

3. % This is their true passions

4. ¥ No correction required.

Question Number : 126 Question Id : 9679472552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(This is there true passion) more than lightbulbs, jet engines, or television programming.
Options :

1. % This is their true passion

2. % Those are there true passion

3. ®* This is their true passions



4. # No correction required.

Question Number : 127 Question Id : 9679472553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Whether to grab the opportunity or not is your take (although keeping in mind neither your parents will suffer or I.)
Options :

1. #® but keeping in mind neither your parents will suffer nor I.

2. % but keep in mind neither your parents will suffer or I.

3. ¥ but keep in mind neither your parents will suffer nor 1.

4. # No correction required.

Question Number : 127 Question Id : 9679472553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Whether to grab the opportunity or not is your take (although keeping in mind neither your parents will suffer or I.)
Options :

1. # but keeping in mind neither your parents will suffer nor I.

2. # but keep in mind neither your parents will suffer or I.

3. % but keep in mind neither your parents will suffer nor I.

4. # No correction required.

Question Number : 128 Question Id : 9679472554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



Mesopotamian civilization is credited with the invention (of the wheel which is one of the greatest invention made by humans.)
Options :

1. #® of the wheel which is one of the greatest invention done by humans.

2. ¥ of the wheel which is one of the greatest inventions by humans.

3. # of the wheel which is one of the greatest inventions by any humans.

4. ® No correction required.

Question Number : 128 Question Id : 9679472554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Mesopotamian civilization is credited with the invention (of the wheel which is one of the greatest invention made by humans.)
Options :

1. # of the wheel which is one of the greatest invention done by humans.

2. ¥ of the wheel which is one of the greatest inventions by humans.

3. # of the wheel which is one of the greatest inventions by any humans.

4. # No correction required.

Question Number : 129 Question Id : 9679472555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Although other parts) the world 70% of area is covered with plants, in India it is less than 30%.
Options :

1. ® If ever in other parts

2. % However some parts

3. % While in other parts of

4. ® No correction required.



Question Number : 129 Question Id : 9679472555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Although other parts) the world 70% of area is covered with plants, in India it is less than 30%.
Options :

1. # If ever in other parts

2. % However some parts

3. % While in other parts of

4. # No correction required.

Question Number : 130 Question Id : 9679472556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The earliest of meditation (dhyana) are found in the ancient Hindu texts known as the Vedas.
Options :

1. # loss

2. # poems

3. ¥ records

4. ® biblography

Question Number : 130 Question Id : 9679472556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The earliest of meditation (dhyana) are found in the ancient Hindu texts known as the Vedas.
Options :
1. # loss



2. # poems
3. ¥ records
4. % biblography

Question Number : 131 Question Id : 9679472557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

We then compared the good companies to the listed companies to discover the essential and factors at work.
Options :

1. % disgusting

2. ¥ distinguishing

3. % disguising

4. % disgorged

Question Number : 131 Question Id : 9679472557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

We then compared the good companies to the listed companies to discover the essential and factors at work.
Options :

1. # disgusting

2. ¥ distinguishing

3. % disguising

4. ¥ disgorged

Question Number : 132 Question Id : 9679472558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



yourself for the small successes, and taking the small bow, are good ways of learning to experience life each moment that you live
it.
Options :
1. # Denounce
2. # Amend
3. % Ameliorate
4. ¥ Applauding

Question Number : 132 Question Id : 9679472558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

yourself for the small successes, and taking the small bow, are good ways of learning to experience life each moment that you live
it.
Options :
1. # Denounce
2. % Amend
3. % Ameliorate
4. ¥ Applauding

Question Number : 133 Question Id : 9679472559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Leaders have nothing but themselves to work with, it is one of the of life that good leaders rise to the top inspite of their weaknesses.
Options :

1. # conventions

2. % praxis

3. % paradoxes

4. ¥ penchants



Question Number : 133 Question Id : 9679472559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Leaders have nothing but themselves to work with, it is one of the of life that good leaders rise to the top inspite of their weaknesses.
Options :

1. * conventions

2. % praxis

3. % paradoxes

4. % penchants

Question Number : 134 Question Id : 9679472560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Kolkata also known as Calcutta

P. the city is approximately 80 kilometres (50 mi) west of
Q. is the capital of the Indian state of West Bengal,

R. (the official name until 2001)

S. located on the eastern bank of the Hooghly River,

the border with Bangladesh.
Options :

1. ¥ SRQP

2. ¥ RQSP

3. * PRQS

4. % QPSR

Question Number : 134 Question Id : 9679472560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Kolkata also known as Calcutta

P. the city is approximately 80 kilometres (50 mi) west of
Q. is the capital of the Indian state of West Bengal,

R. (the official name until 2001)

S. located on the eastern bank of the Hooghly River,

the border with Bangladesh.
Options :

1. % SRQP

2. ¥ RQSP

3. # PRQS

4, % QPSR

Question Number : 135 Question Id : 9679472561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Earlier the air we breathe in

R. used to be pure and fresh but, due to

Q. increasing industrialization and concentration of
P. poisonous gases in the environment

S. the air is getting more and more toxic day by day

and these gases cause many respiratory and other diseases.
Options :

1. # PQRS

2. % QRSP

3. % RQPS

4. % SRQP



Question Number : 135 Question Id : 9679472561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Earlier the air we breathe in

R. used to be pure and fresh but, due to

Q. increasing industrialization and concentration of
P. poisonous gases in the environment

S. the air is getting more and more toxic day by day

and these gases cause many respiratory and other diseases.
Options :

1. * PQRS

2. % QRSP

3. ¥ RQPS

4. % SRQP

Question Number : 136 Question Id : 9679472562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct passage.

The British Raj was the rule by the British Crown primarily on the Indian subcontinent from 1858 to 1947.

P. It included areas directly administered by the United Kingdom, which were collectively called British India.

Q. The rule is also called Crown rule in India, or direct rule in India.

R. It also included areas ruled by indigenous rulers, but under British tutelage or paramountcy, called the princely states.
S. The region under British control was commonly called India in contemporaneous usage.

The region was sometimes called the Indian Empire, though not officially.
Options :



1. ¥ PQRS
2. % SPRQ
3. ® RPSQ
4. v QSPR

Question Number : 136 Question Id : 9679472562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct passage.

The British Raj was the rule by the British Crown primarily on the Indian subcontinent from 1858 to 1947.

P. It included areas directly administered by the United Kingdom, which were collectively called British India.

Q. The rule is also called Crown rule in India, or direct rule in India.

R. It also included areas ruled by indigenous rulers, but under British tutelage or paramountcy, called the princely states.
S. The region under British control was commonly called India in contemporaneous usage.

The region was sometimes called the Indian Empire, though not officially.
Options :

1. # PQRS

2. % SPRQ

3. % RPSQ

4. ¥ QSPR

Question Number : 137 Question Id : 9679472563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct passage.

Delhi is one of the oldest cities in the world, and has been continuously inhabited since the 6th century BCE.
P. For many centuries Delhi has been a dominant trading and commercial centre in northern India,

Q. The city has been captured, ransacked and rebuilt several times, particularly during the medieval period, and modern Delhi is a cluster of a
number of cities spread across the metropolitan region.



R. It is also assumed to be the location of Indraprastha, the capital of the Pandavas in the epic Mahabharata.
S. Through most of its history, Delhi has served as a capital of various kingdoms and empires, most notably the Tomars, Chahamanas, Delhi
Sultanate and Mughals.

Since the 1990s it has emerged as an important node in the international corporate and financial network.
Options :

1. ¥ SRQP

2. % PQRS

3. % QRSP

4. ¥ RSPQ

Question Number : 137 Question Id : 9679472563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct passage.

Delhi is one of the oldest cities in the world, and has been continuously inhabited since the 6th century BCE.

P. For many centuries Delhi has been a dominant trading and commercial centre in northern India,

Q. The city has been captured, ransacked and rebuilt several times, particularly during the medieval period, and modern Delhi is a cluster of a
number of cities spread across the metropolitan region.

R. It is also assumed to be the location of Indraprastha, the capital of the Pandavas in the epic Mahabharata.

S. Through most of its history, Delhi has served as a capital of various kingdoms and empires, most notably the Tomars, Chahamanas, Delhi
Sultanate and Mughals.

Since the 1990s it has emerged as an important node in the international corporate and financial network.
Options :

1. ¥ SRQP

2. % PQRS

3. % QRSP

4. % RSPQ

Question Number : 138 Question Id : 9679472564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

EDUCE

Options :

1. # TREASURE
2. # EDUCATE
3. % ELATE

4. ¥ ACQUIRE

Question Number : 138 Question Id : 9679472564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

EDUCE

Options :

1. ¥ TREASURE
2. % EDUCATE
3. ¥ ELATE

4. ¥ ACQUIRE

Question Number : 139 Question Id : 9679472565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

REVERBERATE
Options :

1. ¥ QUIETEN

2. % ECHO

3. % VIBRATE

4. % REBOUND



Question Number : 139 Question Id : 9679472565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

REVERBERATE
Options :

1. ¥ QUIETEN

2. % ECHO

3. ¥ VIBRATE

4. % REBOUND

Question Number : 140 Question Id : 9679472566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

LUGUBRIOUS
Options :

1. ®* GORGEOUS

2. ¥ UNHAPPY

3. ¥ PREPOSSESSING
4. % SUPERLATIVE

Question Number : 140 Question Id : 9679472566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

LUGUBRIOUS
Options :
1. % GORGEOUS



2. ¥ UNHAPPY
3. #* PREPOSSESSING
4. *= SUPERLATIVE
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Question Number : 141 Question Id : 9679472567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

VERACITY
Options :

1. ¥ ACCURACY
2. % FALSENESS
3. % DISCARD
4. ¥ SPECIAL

Question Number : 141 Question Id : 9679472567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

VERACITY
Options :

1. ¥ ACCURACY
2. % FALSENESS
3. % DISCARD
4. % SPECIAL

Question Number : 142 Question Id : 9679472568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

MATERIAL

Options :

1. # ESSENTIAL

2. % FORGIVING

3. % SPIRITUAL

4. % EXPONENTIAL



Question Number : 142 Question Id : 9679472568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

MATERIAL

Options :

1. % ESSENTIAL

2. % FORGIVING

3. ¥ SPIRITUAL

4. % EXPONENTIAL

Question Number : 143 Question Id : 9679472569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CONSCENCE

2. % CONCIENCE

3. ¥ CONSIENCE

4. ¥ CONSCIENCE

Question Number : 143 Question Id : 9679472569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CONSCENCE

2. % CONCIENCE

3. % CONSIENCE

4. ¥ CONSCIENCE



Question Number : 144 Question Id : 9679472570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ EPHIMERAL

2. ¥ EPHEMERAL

3. ¥ EPHEMERRAL

4. ¥ EPHEMERIAL

Question Number : 144 Question Id : 9679472570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ EPHIMERAL

2. ¥ EPHEMERAL

3. %# EPHEMERRAL

4. ¥ EPHEMERIAL

Question Number : 145 Question Id : 9679472571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # EVENESCENT

2. % EVANECENT

3. ¥ EVANESCENT

4. ¥ EVANESENT

Question Number : 145 Question Id : 9679472571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ®* EVENESCENT

2. ® EVANECENT

3. ¥ EVANESCENT

4. % EVANESENT

Question Number : 146 Question Id : 9679472572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ RECOMEND

2. ¥ RECCOMEND

3. # RECCOMMEND

4. ¥ RECOMMEND

Question Number : 146 Question Id : 9679472572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. * RECOMEND

2. % RECCOMEND

3. ¥ RECCOMMEND

4. ¥ RECOMMEND

Question Number : 147 Question Id : 9679472573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ THESAURUS

2. % THEASURUS

3. ¥ THESAUROUS

4. ¥ THEASUROUS

Question Number : 147 Question Id : 9679472573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ THESAURUS

2. % THEASURUS

3. ¥ THESAUROUS

4. % THEASUROUS

Question Number : 148 Question Id : 9679472574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Elbow Room

Options :

1. % To accidently hit someone in a closed space.
2. # To overcome someone.

3. % The freedom and ability to act as one wants.
4. # To take a difficult task.

Question Number : 148 Question Id : 9679472574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Elbow Room

Options :

1. # To accidently hit someone in a closed space.
2. # To overcome someone.

3. ¥ The freedom and ability to act as one wants.
4. # To take a difficult task.

Question Number : 149 Question Id : 9679472575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To show the white feather
Options :

1. ¢ Lack of courage.

2. # To talk straight.

3. % To find one's roots.

4. % To call for peace.

Question Number : 149 Question Id : 9679472575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To show the white feather
Options :

1. ¢ Lack of courage.

2. % To talk straight.

3. # To find one's roots.

4. ® To call for peace.



Question Number : 150 Question Id : 9679472576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Under duress

Options :

1. # To earn a living.

2. % Under compulsion.
3. ¥ By unfair means.

4. # To be in low spirits.

Question Number : 150 Question Id : 9679472576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Under duress

Options :

1. # To earn a living.

2. % Under compulsion.
3. % By unfair means.

4. # To be in low spirits.

Question Number : 151 Question Id : 9679472577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Leave in the lurch

Options :

1. # False hopes.

2. % To give up a difficult task.



3. # To refuse.

4. ¥ Abandon one without assistance

Question Number : 151 Question Id : 9679472577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Leave in the lurch

Options :

1. # False hopes.

2. % To give up a difficult task.
3. % To refuse.

4. % Abandon one without assistance

Question Number : 152 Question Id : 9679472578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Deserving to be blamed or considered responsible for something bad
Options :

1. # Emaciated

2. % Culpable

3. # Insipid

4. % Faux Pass

Question Number : 152 Question Id : 9679472578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Deserving to be blamed or considered responsible for something bad



Options :

1. # Emaciated
2. % Culpable
3. # Insipid

4. % Faux Pass

Question Number : 153 Question Id : 9679472579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Excellent, or beautiful and impressive
Options :

1. # Lurch

2. # Erractic

3. % Splendid

4. ¥ Baroque

Question Number : 153 Question Id : 9679472579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Excellent, or beautiful and impressive
Options :

1. # Lurch

2. # Erractic

3. ¥ Splendid

4. % Baroque

Question Number : 154 Question Id : 9679472580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word' for the expressions given below.

To make a bad or unpleasant situation better
Options :

1. ¥ Ameliorate

2. # Zealot

3. % Corpulent

4. % Succour

Question Number : 154 Question Id : 9679472580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

To make a bad or unpleasant situation better
Options :

1. ¥ Ameliorate

2. # Zealot

3. # Corpulent

4. % Succour

Question Number : 155 Question Id : 9679472581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

The situation in which people are forced to leave the place where they normally live
Options :

1. ¥ Immigration

2. % Emigration

3. # Posting

4. ¥ Displacement



Question Number : 155 Question Id : 9679472581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

The situation in which people are forced to leave the place where they normally live
Options :
1. * Immigration

2. % Emigration

3. * Posting

4. ¥ Displacement

Sub-Section Number : 2
Sub-Section Id : 96794745
Question Shuffling Allowed : Yes

Question Id : 9679472582 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage carefully and answer the given questions.

In 1848 explorer John Septimus Roe named the waterway Lake Spencer after Sir Richard Spencer, a Resident Magistrate in Albany who
contributed to the early formation of the colony of Western Australia. The Lake has displayed a distinct pink hue in the past and was colloquially
referred to as Pink Lake until 1966 when the Shire President, Cr W S Paterson submitted a request to the Geographic Names Committee which
was successful and resulted in Lake Spencer officially becoming Pink Lake. Pink Lake is a Salt Lake in the Goldfields-Esperance region of
Western Australia. For many years Pink Lake was a tourist attraction in the region with the surrounding area, an arterial road and local businesses
adopting the name. Although historically the water in the lake was visibly pink, as of 2017 it had not been pink for over ten years. Salt
concentration is vital to Pink Lake's pink hue, and Pink Lake may turn pink again as conditions change. The dynamics of why a lake turns pink
are very complex. External changes and weather conditions can affect the colour of the lake. Esperance's Pink Lake has lost its pink colour due to
salinity changes caused by human activity. The lake has been identified by Bird Life International as an Important Bird Area because it usually
supports significant numbers of hooded plovers and sometimes over 1% of the world population of banded stilts. It has had many migrant and
native birds. Between 1997 and 2006, populations ranging between 12 and 12,000 of the banded stilts were recorded. There was a population of
between 5 and 68 of the hooded plovers from 1995 to 2005.

Sub questions

Question Number : 156 Question Id : 9679472583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

When was the lake's name changed from Lake Spencer to Pink Lake?
Options :

1. % 1966

2. %1995

3. % 1848

4. % 1997

Question Number : 157 Question Id : 9679472584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the cause of the lake's distinct pink hue?
Options :

1. # Banded stilts deposites of over 1% of the total present in the world.
2. % Salt concentrations.

3. # External changes and weather conditions.

4. % Surrounding reflections.

Question Number : 158 Question Id : 9679472585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, where is the Pink lake located?
Options :

1. # Goldfields-Esperance region of Eastern Australia.
2. # Waterway Lake Region of Albany

3. # Paterson Region of Western Australia.

4. ¥ Goldfields-Esperance region of Western Australia.

Question Number : 159 Question Id : 9679472586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is correct? Choose one option.



A. Pink Lake is a Salt Lake in the Goldfields-Esperance region of Eastern Australia.

B. The lake has been identified by Bird Life International as an Important Bird Area because it usually supports significant numbers of hooded
plovers.

C. There was a population of between 5 and 68 of the hooded plovers from 1995 to 2005.

Options :

1. % A&B
2.% C&A
3. 9B&C

4. % All are correct.

Question Number : 160 Question Id : 9679472587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.

A. In 1966 the Shire President, Cr W S Paterson submitted a request to the Geographic Names Committee which resulted in Lake Spencer
officially becoming Pink Lake.

B. Although historically the water in the lake was visibly pink, as of 2017 it had not been pink for over twelve years.

C. Esperance's Pink Lake has lost its pink colour due to salinity changes caused by human activity.

Options :

1. ¥ A only
2. % B only
3.% A&C

4. % All are incorrect.

Question Id : 9679472582 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage carefully and answer the given questions.

In 1848 explorer John Septimus Roe named the waterway Lake Spencer after Sir Richard Spencer, a Resident Magistrate in Albany who
contributed to the early formation of the colony of Western Australia. The Lake has displayed a distinct pink hue in the past and was colloquially
referred to as Pink Lake until 1966 when the Shire President, Cr W S Paterson submitted a request to the Geographic Names Committee which
was successful and resulted in Lake Spencer officially becoming Pink Lake. Pink Lake is a Salt Lake in the Goldfields-Esperance region of
Western Australia. For many years Pink Lake was a tourist attraction in the region with the surrounding area, an arterial road and local businesses



adopting the name. Although historically the water in the lake was visibly pink, as of 2017 it had not been pink for over ten years. Salt
concentration is vital to Pink Lake's pink hue, and Pink Lake may turn pink again as conditions change. The dynamics of why a lake turns pink
are very complex. External changes and weather conditions can affect the colour of the lake. Esperance's Pink Lake has lost its pink colour due to
salinity changes caused by human activity. The lake has been identified by Bird Life International as an Important Bird Area because it usually
supports significant numbers of hooded plovers and sometimes over 1% of the world population of banded stilts. It has had many migrant and
native birds. Between 1997 and 2006, populations ranging between 12 and 12,000 of the banded stilts were recorded. There was a population of
between 5 and 68 of the hooded plovers from 1995 to 2005.

Sub questions

Question Number : 156 Question Id : 9679472583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the lake's name changed from Lake Spencer to Pink Lake?
Options :

1. ¥ 1966

2. % 1995

3. % 1848

4. % 1997

Question Number : 157 Question Id : 9679472584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the cause of the lake's distinct pink hue?
Options :

1. % Banded stilts deposites of over 1% of the total present in the world.
2. % Salt concentrations.

3. % External changes and weather conditions.

4. # Surrounding reflections.

Question Number : 158 Question Id : 9679472585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, where is the Pink lake located?
Options :



1. # Goldfields-Esperance region of Eastern Australia.
2. % Waterway Lake Region of Albany
3. % Paterson Region of Western Australia.

4. ¥ Goldfields-Esperance region of Western Australia.

Question Number : 159 Question Id : 9679472586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is correct? Choose one option.

A. Pink Lake is a Salt Lake in the Goldfields-Esperance region of Eastern Australia.

B. The lake has been identified by Bird Life International as an Important Bird Area because it usually supports significant numbers of hooded
plovers.

C. There was a population of between 5 and 68 of the hooded plovers from 1995 to 2005.

Options :

1. % A&B
2.% C&A
3. 9B&C

4. % All are correct.

Question Number : 160 Question Id : 9679472587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.

A. In 1966 the Shire President, Cr W S Paterson submitted a request to the Geographic Names Committee which resulted in Lake Spencer
officially becoming Pink Lake.

B. Although historically the water in the lake was visibly pink, as of 2017 it had not been pink for over twelve years.

C. Esperance's Pink Lake has lost its pink colour due to salinity changes caused by human activity.

Options :

1. ¥ A only
2. % B only
3.% A&C

4. % All are incorrect.
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Question Number : 161 Question Id : 9679472588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR el 7 @ 39 faweu o1 g7 &% ot fou U TfY - fawse We & U8l Tt &1 iseu 71
1]_5’+B'Cl?3h"ﬁ




Options :

1. ¢ TR
2. ® TEUAN
3. % Jguanil
4. % RO

Question Number : 161 Question Id : 9679472588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR el 7 @ 39 faweu o1 g7 &% ot fou 71 TfY - fawse We & I8l Tt &1 iU 71
1]_5’+3'CI'ChTﬁ

Options :

| TEIE
2. % TGN
3. % gguanil
4. % TEUTINT

Question Number : 162 Question Id : 9679472589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed uy 8, aR fawedl § T 39 faswey &1 999 &3 ol foU U Trsg & Ie1 IfY fawde &1 fasea |
Options :

1. % g+ 3l

2. % gR+ IS

3. ¢ IR + 3Rt

4. % R+ Ferd

Question Number : 162 Question Id : 9679472589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofefad uy A, IR el 7 @ 39 fad ey &1 9g7 B3 o feT U Yee & et Y fawde o1 faweu 81

Options :

1. % dR + el
2. % R + 3
3. ¢ GR + 3figd
4. % IR+ el

Question Number : 163 Question Id : 9679472590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 A 39 fadcu o1 97 &3 & feu 1 TfY - fawde We & el T &1 iU 71

HIG + =31
Options :
1. % OigaT
2. % HIEST
3. % TSI
4. A1

Question Number : 163 Question Id : 9679472590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiiad Uy & IR foredl ° T 39 ey &1 7o &1 o feu U Y - fo=de Wsg & Tt 1Y &1 ldpeu g

HIG + g=31
Options :
1. % OIS
2. % HIFST
3. % TABT
4. ¥ HIEwIT




Question Number : 164 Question Id : 9679472591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad uy & IR foreal ° T 39 focy &1 7= &1 o feu U 9fY & g} 9fY-fowse o1 faseu g1
3=q1&fr

Options :

1. % 37+ R&fUl
2. ¥ 3 + S&UT
3. % 3+ P
4. % 3+ Q&

Question Number : 164 Question Id : 9679472591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR el 7 @ 39 fad e o1 97 &3 o feu v TfYy & I8} wfd-fode S fapeu g |
3{gTefur

Options :

1. % 3 + &
2. ¥ 3 + S&UT
3. % 3+ 5P
4. % 3 + Uefur

Question Number : 165 Question Id : 9679472592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR el 7 @ 39 fawed &1 9g &3 oY AT 77U eq & forw sHyRY THY & faug &1 98! i g1
Uaden!

Options :




1. ¢ U o ardl Iael
2. % U A § a9l

3. % TaPpi g ol Ut A

4. % U Y god Iaabl

Question Number : 165 Question Id : 9679472592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fowedl & T 39 foswey &1 w9 &9 Ot AT U Wisg & fo sHerRy 99 & f3ug &1 98! fasau 71
PEEESH

Options :

1. ¢ U T dTel! Tabt
2. % U H g gl

3. % gap! g off g o

4. % U god ddeh

Question Number : 166 Question Id : 9679472593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 faped! o 9 39 [9ded &1 997 &< ol IUWH U 4 Meg BT Wl [ddhed 5
Options :

1. ¢ faym

2. % WY

3. % U4

4, % 3dH

Question Number : 166 Question Id : 9679472593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faeel #f T 39 fAdhed 1 T B3 Sl U I 9 Yog oI Ja! [Abed B




Options :

1. ¢ faymH
2. % WY
3. % UM
4, % 3=dH

Question Number : 167 Question Id : 9679472594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 ol B § 39 faded &1 909 o Sl U ¥ 8 Xeg &1 gl fadhed g |
Options :

1. ¢ TIAHHA

2. % 3HJHH

3. % RMERT

4, % g9

Question Number : 167 Question Id : 9679472594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 famed! o ¥ 39 [9ded &1 997 &< ol U ¥ 9 RMeg $I Ug! [ddhed |
Options :

1. ¢ TiaHH

2. % 3{JHH

3. % RMERT

4. % JHY

Question Number : 168 Question Id : 9679472595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafad uy 7, IR e & 3, 39 famey 31 T B S GRATT dre ARl 7 Jed 33T fahed gl

Options :




Question Number : 168 Question Id : 9679472595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 8, IR fadwedl & 9, 39 fddhed &1 99+ &3 Sl GRHT0T aTad IR0 37 9ad 3<s1 [ddhed 5|
Options :

1. ¢ T fbell AR

2. % Sgd 9 pd

3. % P AN

4. % UF Q&b

Question Number : 169 Question Id : 9679472596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad uy & IR fowedl # T 39 ey &1 7= &1 ot feT U eg 71 T8 A ee |

dcy®]
Options :
1. % 3{dlp
2. ¢ &Y
3. % fagm
4, % IR

Question Number : 169 Question Id : 9679472596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed gy &, IR ol & @ 39 fadbed &1 99 &3 Wl faT TN Wee 7 Iat faed 2sg B




dcy®]
Options :
1. % 3{dlp
2. ¢ &Y
3. % fagm
4, % IR

Question Number : 170 Question Id : 9679472597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafiad Uy & IR fomel & T 39 fobcy &1 9o &Y ot 3T TN e 1 I8! vafgar wse B

SINE
Options :
1. % dId
2. ¢ FdhaH
3.% Y

4, % gdq

Question Number : 170 Question Id : 9679472597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed uy &, IR el 5 9 39 fadh ey o1 997 B W f3T TN Weg &7 It vaiaar 2ee 8|

STl
Options :

1. % dlcl

2. ¢ (Adba
3.% Y

4. % gdq




Question Number : 171 Question Id : 9679472598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & ar fawed § O 39 fawed &1 94 &3 off U U Weg-gH & el 37 &1 fawed g |

R - YRT
Options :

1. % hHd, dlqd
2. % dd, g

3. ¢ Gl Uarg
4. % fo=m, yarg

Question Number : 171 Question Id : 9679472598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul # 9 39 fadhed &1 70 & S fou 10 Wsg-g & Ha! o &1 fadhed 5|

YR - YR
Options :

1. ® DHHA, diqd
2. % 9d, gR

3. ¥ Jedl, Udlg
4. % fa=m, yarg

Question Number : 172 Question Id : 9679472599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 3 39 fawed &1 9 & off U U Weg-gH & el 37 &1 fawed g |

AR -AHR
Options :
1. % 37 BT 3R, UTST




2. % IER, HId
3. % AgR, g &1 3@AR
4. ¢ 3{TH BT 3R, TR

Question Number : 172 Question Id : 9679472599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowedl & T 39 fawed &1 99 &3 off AU T8 Wsg-g & Tt 3 &1 fadwed g |

3R -3MEAR

Options :

1. % 37 P AR, UIST
2. % YIER, HIfad

3. % IR, g &1 3ER
4. ¥ U DI AR, FdER

Question Number : 173 Question Id : 9679472600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy §, IR eeal 7 @ 39 fab ey o1 9g7 &3 S feT U areiy & ot Ueh Wsg &1 9e! fdbeu gl

AThUT h[ Al -
Options :

1. ¥ BT

2. % faRIvy

3. % QARG

4. % HTHI0T B Tl

Question Number : 173 Question Id : 9679472600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 @ 39 faw e &1 gg= &3 S feT 74 arei & ot Ue Wsg &1 I8! fawbeu gl




THRUT DT T -
Options :

1. ¢ 3BT

2. % foRivg

3. % JUIIRD

4, % HIH0] & JIdl

Question Number : 174 Question Id : 9679472601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafliad Uy & IR fopedl & T 39 fohey &1 9o &1 o oUW weg & Tt 3if b1 fapea B
EI

Options :

1. % TS
2. % YRdl
3. ¢ Udlhl
4, % Jgd

Question Number : 174 Question Id : 9679472601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy §, IR el 7 9 39 fadh ey o1 997 B3 o faT TN Te & et 3if o1 fabcu gl
bq

Options :

1. % IS
2. % YRl
3. % [dlhl
4, % g




Question Number : 175 Question Id : 9679472602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy §, IR ieeal 7 9 39 fab ey &1 997 &3 S feT U areiey & ot Ue Wsg &1 Iel fabcu gl
ool gfgare

Options :

1. ¥ ST
2. % dugfs
3. % gfgHH
4, % T

Question Number : 175 Question Id : 9679472602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR ieeal 7 @ 39 faw ey &1 gg7 o S feT 7Y arei & ot Ue Wsg &1 98! fabeu gl
o gfgara

Options :

1. ¥ SIS
2. ¥ qoldfg
3. % gfgaH
4, % 3T

Question Number : 176 Question Id : 9679472603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea Uy & R fawer § 9, 39 I8! fawed &1 997 & Sl Rad M & U Suged Wee &1 Tg! fadwea 7
J5 S5 fecrara 81 Te & Ge Aeg FRa B

Options :
1. % PUl]




2. % g
3. % JYR
4. ¢ 3R

Question Number : 176 Question Id : 9679472603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fopea & 9, 39 8! faded o1 7o &3 ot Rad I & o IUged Usg &1 Ug [dbed ]
AT K fectard &1 TRIel B e Aeg B B

Options :
1. % PUG
2. % gHl
3. % JYR
4. ¥ 3aR

Question Number : 177 Question Id : 9679472604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
19 famed! o 9§ 39 faded &1 997 1 Sl Weg FT PG €U ST faHed |

Options :

Question Number : 177 Question Id : 9679472604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fadeal & § 39 fawed &1 799 B3 ol et & G U H [dhed 7
Options :




Question Number : 178 Question Id : 9679472605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy H, aR fawedl & I 39 fdwed &1 999 &3 off AT 71T Vg &1 dgda- FU R |

Ll
Options :

1. % ST
2. ¢ YIGd
3. % Ig<
4. % TATEAN

Question Number : 178 Question Id : 9679472605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeaa oy & IR fawe # T 39 fawey &1 7 o3 ot U 71U Wsg &1 sgaad ®U B |
T

Options :

1. ® IS
2. ¥ TAIGd
3. % Ydg
4, % GATAN

Question Number : 179 Question Id : 9679472606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 faepeal # @ 39 Aheu o1 Tgq 3 S Yed Wi WMo 1 fdpeu B
Options :

1. # Tiiad

2. % TUF

3. % B

4. TRH

Question Number : 179 Question Id : 9679472606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 faaedl & @ 39 f9aey &1 99 o S Wed TifelT Reg &1 fdded |
Options :

1. ® TRga

2. % UF

3. ¥

4.« TRHN

Question Number : 180 Question Id : 9679472607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR foredl ° T 39 ey &1 7= &1 5 feu U 9190 & We &1 98! fApeu 7|

31T STER e |
Options :

1. % SJAAD
2. % Jbadrdad
3. ¢ 3D
4. % VYIS

Question Number : 180 Question Id : 9679472607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy & IR el 7 A 39 fadcu o1 97 & & feT W g/ & He &1 Ia! fasreu gl

3T S8R sf3d |
Options :
1. #® SS[d[dd
2. % Yhddradh
3. ¢ SIRIA D
4. % YYD
General Hindi2
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Group Id : 96794740
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Sub-Section Number : 1
Sub-Section Id : 96794747
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9679472608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad gy & I 39 by &1 997 &L o feU 7T a1 & U &1 I8t fApea B
o I g b TR 3HeR 3w Tg ad |

Options :

1. % Igod a1
2. % fqYara®
3. % IRA AN
4.« fOfgq o/

Question Number : 181 Question Id : 9679472608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad Uy & T 39 Ahey &1 T899 &3 o feu 70 a1 & U &1 I8t s B
o ST § fb TR 3R 3w Ta ad |

Options :

1. % Jgad are
2. % fayrar®
3. % IRA I
4. ¢ TOf%q areg

Question Number : 182 Question Id : 9679472609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & 3 39 fawed &1 999 o o1l fau 70 9160 & g & Ve &1 98! fddbea g



SHARY # aTs SRR ol =i
Options :

1. # degrd

2. % Py

3. ¢ S1egdl YEaH

4. % Tpard

Question Number : 182 Question Id : 9679472609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & @ 39 fawed &1 907 &< S fqu TN a1 & gy & e &1 Ig! fdwed ]
AR ¥ gaTs SR ol dTfe Ul

Options :

1. % dagrd

2. % gy

3. ¢ dIYdl JdPh
4. % dard

Question Number : 183 Question Id : 9679472610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & 3 39 fawed &1 999 o 1 fau 70 a1eg & gfd & Ve &1 98! fadwe 7
g1 dTGd SRE |

Options :

1. « Tz
2. % faagd

3. % Hagrd
4. % Jpard




Question Number : 183 Question Id : 9679472610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & 3 39 fawed &1 999 o 1 fou 70 a1eg & gfa & N &1 98! fadweu 7
g STGd SRE |

Options :

1. « Tz
2. % faagdf
3. % Hagrd
4. % Tpard

Question Number : 184 Question Id : 9679472611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad Uy & T 39 ey &1 997 &3 o feU 770 a1 & Uel & He 1 Iat fdbeu gl

TIPS UGT T8 &
Options :

1. % Jfdey®
2. % gUldIEIy®
3. # MgdEaiy®
4. ¢ qrAAAYH

Question Number : 184 Question Id : 9679472611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead Uy & I 39 Ahey &1 9= B o faU 77T 911 & Y&l & He &1 Jel f[dbeu gl

3T UST R o
Options :

1. ® AEIYSH




2. % uldIEIy®
3. % AadEys
4. IAISYD

Question Number : 185 Question Id : 9679472612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad Uy & T 3T by &1 I &3 o faU 770 a1 & BT & U ol Jgt fAbea B

TG Ha AT Y|
Options :

1. % QU qHH $rd

2. % AT Ydbld

3. % gdogHe YddbTd
4. ¢ YT Yid=q BT

Question Number : 185 Question Id : 9679472612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead Uy & I 39 ey &1 I8 &L o faU 77T 91 & BT & U ol Jet [Abed g

S Dl SHATUD 3T
Options :

1. % Ul g BId

2. % G YdbTd

3. % gdegHG YdbTd
4. ¢ YT Yid=q BT

Question Number : 186 Question Id : 9679472613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad Uy & T 39 by &1 797 &3 o feu 70 a1 & U &1 I8t s 8|




Sl o ol &, I8 B e WG 9l 5
Options :

1. % WA IR

2. Oy ar

3. % JYd aIl

4. % RIS

Question Number : 186 Question Id : 9679472613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad Uy & T 39 by &1 797 &3 o feU 770 a1 & U &1 I8t fApea B
Sl fad ¢t B, 98 B Tie WRiq Johdl g |

Options :

1. % I dIH
2. ¢ Oy I

3. % ggod die
4. % YIS

Question Number : 187 Question Id : 9679472614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafdmed # O 3 fawed &1 Tgq & o fR g gad arag &1 98! faded 3|
Options :

1. % DRYHRRO W &1 YR HR UgHR dgd 3] Al ¢ |

2. % AR T Bt HRA, URAT TGHR Jgd 33T Tl §

3. % DRYCIRRON W S YR - Rl UGHR 9gd BT AT ¢ |

4. ¢ TR W B 'R - URA! TgdhR Jgd BT A 8 |

Question Number : 187 Question Id : 9679472614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafamedl o 9 39 fawed &1 997 B S fav forg gad a1 &1 98 fadweu 7
Options :

1. % TfCTRR T B} YR HRA! TG dgd 3T TTa g |

2. % TR B YR, HRd UgdhR Jgd 3T Il &

3. % TFICIRRU W Pt HRA - YR UGHR 984 3] Il g |

4. ¢ AR W 1 YR - HRA! UghR Sgd ST A g |

Question Number : 188 Question Id : 9679472615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafamed & 9 39 famed &1 997 B S faR™ fog gad are &1 98! fadbea 5|
Options :

1. ¢ 31N Sl I<g! DT & T4 HUS!, 8- LIS dUT Hidsd dea- & o o g
2. % 3ol Hd Tad| BT M U HUST; §R- WIed adT HIESd gaa- J T Tl §
3. % 39 o g BT T U HUS], 3R T IUT S dea & T T 8
4. % 3T B Sl DT A TU HUST: 3UR- TSd aYT Hiasd saod & o TR 8|

Question Number : 188 Question Id : 9679472615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafasmel & § 39 fawed &1 79+ &3 o fRm g gad areg &1 98! fawea ]
Options :

1. ¢ 31N S g5 BT e T4 HUS!, §R- TISd dUT Hidsd daa- & o v g
2. % 3Tl S I bl L U HUS|; 8IR- LIS dUT HiFsd daa- & T o7 8
3. % 391 Hd = B M U HUS|, 3R TISd dUT HiTsd daa- § o o7 g
4. % 39 Hd g BT M U HUSI: TWR- T dUT HIERd dea- H - T gl

Question Number : 189 Question Id : 9679472616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafawel & § 39 fawed &1 79+ &3 o fRm g gad areg &1 98! fawea 71
Options :

1. % g Hg- 34 ST & qUT fTALR 318 s uRy™ S ¢ |

2. % 98 Hg- 3R THTa1 § a1 fG7-4R, 18- s uReyA wxal g

3. % 9g 4g 3R ST g quT f iR g18- drs uRyH a5

4.+ 9% Yg- 3R ST § T feT-4R 13- IS ufyd e |

Question Number : 189 Question Id : 9679472616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafdmedl o 9 39 fawed &1 997 & S fav forg gad a1 &1 98! fadweu 7
Options :

1. % g8 Hg- 3R ST § aT fGTHR 8T8 drs uRem el g

2. % g Hg- 3R SINTAT § auT feA-4R, BTS- s uReM FraT 8

3. % 98 g 3R ST g T fEAWR gTe- drs uRei SR g

4.+ 98 Yg- 3R ST § YT feH-1R grs- dls uRyd axar g

Question Number : 190 Question Id : 9679472617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl & O 39 fadmed &1 9a $< off fU T8 ggTar &1 et o ara fawed |
2l & R e

Options :

1. ¢ DI Afdd BT IHS HRAT
2. % fgQrae oAl

3. # fffe SiH He

4. % YR AT

Question Number : 190 Question Id : 9679472617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed oy & aR fawed # O 39 fadmed &1 7a &3 off fU 7T grar &1 9gt o aran fawed g |
e & W FHa

Options :

1. ¢ DI Hfdd BT gHS HRAT
2. % fq@rae &l

3. % fufe giR e

4. % §IRR BT

Question Number : 191 Question Id : 9679472618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawed & O 39 fadmed &1 9 &< off [T T gTar &1 et o ara fawed |
Scit =TT

Options :

1. % gRET gier
2. ¢ YRIMHG HAl
3. % SXPI Al
4. % fSTd g

Question Number : 191 Question Id : 9679472618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & aR fawed # O 39 fadmed &1 7a &3 off fU 7T Hgrar o1 gt o aran fawed g |
SUEKL

Options :
1. % GREl die-
2. ¥ YRIMHG DAl




3. % ZIHI Gl
4, % qfooTd BT

Question Number : 192 Question Id : 9679472619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed oy & aR fawed # O 39 fadmed &1 7a &3 off fU 7T Hgrar &1 et o arar fawed g |
IS 1 Gueh fo=am

Options :

1. % Ga Bl g T

2. % geTs fa@mn

3. ¢ S W94 URTG a1 9 81 S9! YS! U=T =1
4. % gHSIgHT

Question Number : 192 Question Id : 9679472619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawed & O 39 fadmed &1 9 &< off [T T gTar &1 et o ara fawed |
IS I Gluh foamH

Options :

1. % Ga I T JHIH

2. % geTs fa@mn

3. ¢ Sl W98 U A1 9 B SUD! UTST U= BT
4. % gHSI g

Question Number : 193 Question Id : 9679472620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofliad uy & IR foedl ° T 39 ey &1 7= &1 ot feu U iopifad o1 Tgt 3 are fasea g1




IR T3 Als dl T BT Dl

Options :

1. % fqufa & %u1 gon A9 SfId &1H #dl §
2. % HIE gl ol

3. % gigd Jie o O

4. ¢ TS 9 W X fopgqap

Question Number : 193 Question Id : 9679472620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 @ 39 faweu &1 97 &% ot feu U deifad o1 gt 31 arer fasea 3|
IR TE A8 Al RTHIM DI

Options :

1. % foufy & T gon A Sfd B &Rl §
2. % I gl STl

3. % gldd A o ol

4. ¢ TSId O R R fobganT?

Question Number : 194 Question Id : 9679472621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 A 39 fahcu o1 9g7 &3 o feu U deifad o1 gt 31 arer faeu g |
SR - JW e, Hid el

Options :

1. ¢ 9eR Y 3T, NIR A xR

2. % G 3fTeRT

3. % ST @rsil 39! 319 fearsit
4. % @Y - ITHY DI FTd BT




Question Number : 194 Question Id : 9679472621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 A 39 faw e o1 9g7 &% ot feu U deifad o1 gt 31 arer faseu 3|
SR - JHW g, Hid el

Options :

1. ¢ STEX ¥ 3T, IR I R

2. % It STERUT

3. % fgeT @rel 39! 3@ famran
4. % Y - THY DI T HRAT

Question Number : 195 Question Id : 9679472622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 A 39 fahcu o1 9g7 &3 & feu 71 deifad o1 gt 31 arer fapeu g |

AR 76 3R faen &3

Options :

1. % QI 3O IR GER| Bl SHB T

2. ¢ TS BT ST 3R How 3 8 H1H et @
3. % 3SR U I oMl

4. % ¢ YT I GadI g

Question Number : 195 Question Id : 9679472622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 A 39 faw e o1 9g7 &% &t feu U deifad o1 gh 31 arer fasea 3|

AT S R faen &3
Options :

1. % QY 30T IR GER| I YHS T




2. ¥ T3 B30T 3R How [ g &1 ot @
3. % TSR H A ST
4. % I8 ¢ o) WiTdr g

Sub-Section Number : 2
Sub-Section Id : 96794748
Question Shuffling Allowed : Yes

Question Id : 9679472623 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frafafad e @) ey ufeu o fau 1T usi & IR i

B BT Y B - @7 -T81 P TTC UBR | 3T I 3R B BT didara g | foE @), a8t TfeR) 3R 7T fH & HUS UgH ok 3MTar g
GRGRH TR fHare Rt SR 7= et 3 B=d &1 gi-ar § A ST o & 3| Eifaal & A1ierg A aie ff A A 71 3%
fSUIER HUS WA 2! B 3T YR o1l &1 I e e faendff +ff =M & g # Us U § | 391 e fAd U Husl, 83
TTSd dYUT AITTSd dea H o a8 | 39 SR 301 €071 UeTs ¥ g¢ Widl g | fo T IR R o1 I%eh] &1, 98 3eaa 3R uRed 3
B PTc AT 8| ST T AT R fob 3107 2ep Y 3 & oy b3, Faremeff =Rt oIk eiam 4t S 3muRifeies i v il B

Sub questions

Question Number : 196 Question Id : 9679472624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &1 T 3 ]2
Options :

1. % grax i

2. ¥ G- g o AU UhR
3. % R HYS! DI Ug—]
4. % QR X84 g4

Question Number : 197 Question Id : 9679472625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

310 TN R B3 o o faenelf w1 sRifies s v &l 82



Options :

1. % B, gt

2. % SAMGR

3. % SO

4. ¢ AR 3R eraT ¥

Question Number : 198 Question Id : 9679472626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W o) g § fraq s A &l 82
Options :

1. % Jahg AlCHh A

2. % TTHTA

3. ¢ i R T fvedt

4. % oo =

Question Number : 199 Question Id : 9679472627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faemff <reg @1 agaa fafau|

Options :

1. ¢ faqemfmor

2. % foenfa

3. % faenider

4. % foemdf 9g

Question Number : 200 Question Id : 9679472628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T=q & fory Sferd e e

Options :

1. % B



2. et sfta 3R e
3. % TR BT Sioaral
4. % T 3R RIS dcd

Question Id : 9679472623 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No
Question Numbers : (196 to 200)

frafafad e & ey ufeu SR fau 7T usi & IR i

B BT Y B - I§T -T81 P TTC UBR | 3T I 3R B HT didara g | fo @), a8t TR 3R 7T fH & HUS UgH ok 3MTal g
GRGRH TR T Hiaa iR T el 1 B & gf-an & A1 ST & &t 3 | HiRaall ot ARIT wHl wicht +ff e # 81 3976
(SR HUS STH 2! o1 31 I o1reht 81 T8 Ia S faemdf ot e & g9 § s U & | 37T & A T Ul 3R
TS AU AR gaa- H T T & | 39 HRUN 35T &1 UGTS I 8¢ STdT 8 | o U R BRI o1 I%b] T, I8 3T 3R URYH I
HH! BIcH AT 6 | S | 37T & b 310 Tiieh R A o oy Fs faemedf Ikt 3R e ) oI SIS B e AT & |

Sub questions

Question Number : 196 Question Id : 9679472624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &1 31 31 g2
Options :

1. % o o

2. ¢ g4 Igq & AU YDHR
3. % R HUS! DI Ug—]
4. % QR X84 g

Question Number : 197 Question Id : 9679472625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 R GY 3 & o et S SmuRifies il A &l 62
Options :

1. % &, g



2. % SHAFCRY
3. % FEAM!
4. ¢ AR 3R eraT ¥

Question Number : 198 Question Id : 9679472626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W o) g § fraq s A &l 82
Options :

1. % Jahg AlCHh A

2. % TTHTA

3. ¢ i R T fvedt

4. % faqmoi A

Question Number : 199 Question Id : 9679472627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faemff <reg @1 agaa fafau|

Options :

1. ¢ faqemfmor

2. % foenfa

3. % faenider

4. % foemdf 9g

Question Number : 200 Question Id : 9679472628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T=q & fory Sferd e e

Options :
1. % yH
2. « Taendf g IR By

3. % THhYMH BT SradTal




4. % Y 3R ARIYS dd



